TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
A” 1 nuizulbe+u4 / 25 A~ 1wz 114e+04 [ 25 A™ 1 nuizuy4e+04 [ 25 A~ ysse+ud | 25

40008 po 4140+ 0.0 4000, po 4145+ 0.0 4000, po 4147+ 0.0 4000, po 4145+ 0.0
pl -34.3+ 0.0 pl -34.44 + 0.00 r pl -34.33+ 0.00 pl -33.68+ 0.00

3000

E 3000 - 3000 - 3000 [ B

2000 - 2000 -1 2000 = 2000

1000 -1 1000 - 1000

ol C = 29.69 [ps/ch]

L
50 100

_L 1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,0,4 TVC(cbch) (0,0, TVC(cbch) (0,0,6 TVC(c, bch) (0,0,

Trnuyg, l)laeﬂJA 125 g 2UHE*U4/25 TNy, tl)uueﬂjd 125 Tnug, B)UEE+UA/25
4000E pO 4182+ 0.0 4000, pO 4185+ 0.0 4000, pO 4178+ 0.0 4000, pO 4204+ 0.0
Pl -34.43:000 Pl 3474+ 000 [ PL_ 3333+ 000 347+ 00
3000 4 3000 ] 3000 ] 3000 4
2000 4 2000 E 2000 ] 2000 - 4
1000~ 4 1000 - — i h o -~ = ]
C . C . . wol C = 30.00 [ps/ch] ™. ] C =28.82 [ps/ch] .
1 1 - 1 1 - L 1 1 =1 1 1 =
0 00 50 00 0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh,ch=(0,0,8) TVC(e.eh)=(0,0,9) TVC(eb,ch)=(0, 0, 10) TVC(ebe)=(0,0,11)
© 1 nuiLsboe+u4 / 25 T g1oe+u4 [ 25 T rnub41e+04 / 25 S nu zuze+ud | 25
4000w, pO 4240+ 0.0 4000 f pO 224200 4000 DO 4264+ 0.0 4000 i, p0 4271 00
Pl -37.18% 0.00 Pl -35.88:0.00 L PL_ -36.06% 0.00 Pl 3559 0.00

3000

7 3000 - 3000 - 3000

2000 -1 2000 -1 2000 N 2000

1000 7 1000 N 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(0012) TVC(cbch)(OOlB) TVC(CbCh)(OOl ) TVC(cbch)(OOlS)
T pE3e+u4 / 25 T 1 nu.pzae+u4 25 -1 nun.yose+ud / 25 T 1 nup.u4se+ud [ 25
4000 4243+ 0.0 4000 [, pO 4256+ 0.0 4000 PD 4241 0.0 4000 [, 42441 0.0
-36.11 + 0.00 pl -35.39+ 0.00 F pl -35.07 + 0.00 -34.38 + 0.00

3000

N 3000 - 3000 N 3000 = T

2000 2000 - 2000 2000

1000 1000

= 1000

100r C = 29.08 [ps/ch] ]

PR B SRS | PR PR S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
A” 1L 4y4e+04 [ 25 A~ 1w pbye+ud | 25 A” 1 suse+u4 [ 25 A~ siye+ud /25

4000 e, PO 4185+ 0.0 4000 - po 4194+ 0.0 4000 __- po 4216+ 0.0 4000 e po 4217+ 0.0
pl -34.4+ 0.0 pl -35.22+ 0.00 : pl -36.16 i_0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0.1,4 TVC(cbch) (0,1,5 TVC(cbch) (0,1,6 TVC(cbch) (01,7

~ Ui b33e+04 / 25 “nurLbrze+ud | 25 T 1 rse+ud [ 25 -1 nurg pbze+ud [ 25
4000 fom pO 4210+ 0.0 4000 Fem, pO 4217+ 0.0 4000 fme, pO 4231 0.0 4000 s pO 42341 0.0
Pl 3459+ 0.00 Pl -34.65: 000 [ 854+ 0.0 -346% 0.0

3000 - -1 3000 - 3000 : —: 3000 -

2000 - 2000 -1 2000 : _: 2000 -

wor C =28.91 [ps/ch]N,_ ] 1000 7 1ooor ] wor C = 28.90 [ps/ch]™, ]
% o % o e o

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(0, 1,8) TVC(eb,oh)=(0,1,9) TVC(eb,oh)=(0, 1, 10) TVC(e.heh)=(0, 1, 11)
©1nu, 3sge+u4 | 25 Tinugyl/e+ud [ 25 T, rgre+u4 | 25 T nuzb1be+ud [ 25
4000 4212+ 0.0 4000 o, DO 4228+ 0.0 4000 __- DO 4246+ 0.0 4000 o, pO 4245+ 0.0
-35.2+ 0.0 pl -34.49 + 0.00 u pl -35.45+ 0.00 pl -35.48 + 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 2000 ] 2000 E 2000

1000 . 1000 - 1000

1000 C = 29.00 [ps/ch]

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
T rnuz.zise+u4 | 25 T inuiz1zve+ud [ 25 ~ 1z zu0e+04 [ 25 Tanan z1ie+u4 /25
4000 fm, pO 4265+ 0.0 4000 [, pO 4271+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4264+ 0.0
pl -37.2+ 0.0 pl -37.91+ 0.00 I pl -36.95 + 0.00 pl -37.04 + 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

-
L PRI TR T R
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

T Loze+ud /25
P pO 4203+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- i pule+ud / 25
- pO 4186+ 0.0
pl -35.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

T a5 ge+u4 [ 25
= po 4228+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0,212

T rnuzzore+u4 | 25
= po 4246+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

T nun 1v4e+u4 /25
., pO 4197+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

~1nuibz/e+u4 [ 25
pO 4205+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

~ 1 nai n3ae+04 / 25
po 4260+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

T inuiz 144e+04 / 25
pO 4231% 0.0
p1 -36.9 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,2,2)

“inun Lobe+ud [ 25
o po 4213+ 0.0
o pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

T rnuLg/re+u4 [ 25
- pO 4203+ 0.0
3 pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

Trnug4r1e+04 /25
-, po 4262+ 0.0
- pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2 14

Tz 1zoe+04 | 25
-, pD 4247+ 0.0
L pl -37.26+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT 1L roze+ud [ 25
- po 4222+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

- nui Y33e+u4 / 25
- pO 4230+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

T aze+u4/25
- po 4260+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nuiz 1 roe+ud [ 25
= po 4246+ 0.0
p1 -37.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

A1

Lse+ud | 25
4201+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (0,34

RALTUR

pee-. pO
pL

bobe+u4 / 25
4189+ 0.0
-34.94 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

©nuz.yzoe+u4 | 25
= po 4223+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (0,312

© 1L y4se+u4 / 25
= po 4258+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

TVC(c,b ch) (0 3,5

AT L, 32e+u4 [ 25
P po 4201+ 0.0
p1 -35.11+ 0.00
_1 1
50 100
TP delay [ns]

-1 nuiL blye+ud / 25
4194+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

~ 1 nui 3yve+ud [ 25
po 4238+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

~ 1 nui oyse+ud / 25
pO 4249+ 0.0
-35.28 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

1000

TVC(cbch) (0,3,2)

= P°

T Love+ud /25
4214+ 0.0
-36.27 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

3,6)
1L, ru3e+u4 [ 25
= pO 4213+ 0.0
: pl -36.87 + 0.00
[ C=27.12 [ps/ch ]
. -
50 100

TP delay [ns]

TVC(cbch) (0, 3 10

T 1nuE.urbe+u4 [ 25
- po 4248+ 0.0
L pl -35.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T glie+ud /25
- pD 4270+ 0.0
L pl -36.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

po
pL

AT 1L bzze+ud [ 25
4225+ 0.0
-36.04 + 0.00

TVC(c,b ch) (0 3,7

pO
pl

1
100

TP delay [ns]

-1 nui 834e+04 / 25
4226+ 0.0
-35.61+ 0.00

TVC(c,b ch) (0, 3

TP delay [ns]

T, ib‘Je+U4/25
pO 4256+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(C, bch) (03,15

Tonai g/ /e+ud /25
pO 4265+ 0.0
p1 354+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0

A7 1 nui osse+ud / 25
.. po 4205+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1 i 480e+04 / 25
. pO 4200+ 0.0
pl -36.52+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T rnuizr3e+u4 /25
- pO 4221+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T rnuiLp4le+ud / 25
= po 4228+ 0.0
pl -36.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

A1 L save+Ud | 25
P, po 4185+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

- 1 nuiLb1ge+ud / 25
== po 4203+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T inug, r11e+ud [ 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T nuiLb30e+ud / 25
= pO 4236+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

K™ 1 nui osie+u4 /25
_E po 4221+ 0.0
o pl -38.18+ 0.00

TP delay [ns]

TVC(cbch) (04,6

T r3/e+04 [ 25
3 pO 4223+ 0.0
[ pl -38.05+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

1 nuz5uve+u4 [ 25
. po 4258+ 0.0
- pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

T/ roe+04 [ 25
4227+ 0.0
-36.8 + 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1 nuzusLe+ud [ 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nui B4 /e+04 / 25
- pO 4218+ 0.0
pl -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T aaue+u4/25
- po 4266+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nai roze+ud [ 25
= po 4236+ 0.0
p1 -37.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

AT 1nuisore+u4 /25
4177+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(cbch) (05,4

= o,

1r8e+u4 /25
4191+ 0.0
-35.31+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 58

T rnuz 130e+04 / 25
= po 4182+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

1L pyse+u4 / 25
== po 4195+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

B, po

A1 i 2ave+Ua | 25
4176+ 0.0
-37.67:+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 55

- nui 331e+04 / 25
4181+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

-1 naig.zyoe+ud | 25
po 4201+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,13

T nai r3se+ud [ 25
pO 4202+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,5,2)

=, PO

A7 1 nun 340e+04 /25
4182+ 0.0
-36.84 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

- 1L z8ge+u4 [ 25
4191+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

1000

1 a2 byve+ud | 25
= po 4224+ 0.0
- pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,5,14

1L bEpe+U4 / 25
-, pD 4205+ 0.0
L p1 -35.66 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

e po

AT 1L 4yoe+ud [ 25
4183+ 0.0
-36.24 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 57

“nun rzze+04 [ 25
4203+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 5

EEALEVX uize+u4/25
= po 4218+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

T inuipzie+ud /25
= pO 4204+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

AT inuiasie+u4 /25
., po 4206+ 0.0
pl -36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (06,4

- i Bzye+u4 | 25
pO 4195+ 0.0
p1 -36.47+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T nuig,3v4e+u4 / 25
po 4213+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

~rnuizusve+ud | 25
4224+ 0.0
-35.01+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

AT 1 nuiLbuLe+ud /25
Fee,, po 4197+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

-1 nui Bave+u4 / 25
e, pO 4179+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 6,9

T nuy 3 8e+u4 [ 25
4228+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,6,13

Tonan g Bze+ud [ 25
= pO 4216+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

A~ 1 nuiouie+u4 /25
o=, po 4202+ 0.0
L pl -35.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T 1nuz,01ye+u4 / 25
- pO 4197 00
F Pl 3594+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

© 1 nug.yuge+u4 | 25
. po 4253+ 0.0
- pl -37.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

T rgre+u4 [ 25
- pD 4221+ 0.0
[ p1 -35.88 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

AT rnuan L /3e+u4 /25
- po 4220+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (0,67

-1 nui ya4e+04 / 25
- pO 4194+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T g, /zye+u4/25
= po 4266+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

<1 nui sboe+ud / 25
- pO 4222+ 0.0
p1 -35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

A7 1 nuiayoe+u4 /25
e po 4201+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(cbch) (0,7,4

- rnuz,013e+u4 / 25
- pO 42214 0.0
pl -35.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

1 nuz.go4e+u4 [ 25
4234+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,7,12

~nuiLsYoe+u4 / 25
= po 4221+ 0.0
pl -34.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

AT 1L oyse+ud [ 25
P, po 4212+ 0.0
pl -37.81+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nuz.031e+u4 / 25
- pO 4224+ 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

<1 nup.byae+u4 [ 25
- pO 4242+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

Tinaisz/e+ud [ 25
= pO 4238+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

A7 nun 4sae+04 /25
po 4235+ 0.0
pl -38.11 + 0.00

TP delay [ns]

TVC(cbch) (07,6

T rnuz0L/e+u4 [ 25
- pO 4224+ 0.0
[ pl -35.41% 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T nugyle+ud [ 25
= po 4257+ 0.0
- pl -36.23 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T rnuiLyize+ud | 25
- pD 4239+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT rnuiLszie+u4 [ 25
- po 4232+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nu Z3ye+u4d / 25
- pO 4220+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, u/4e+u4/25
= po 4260+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

S rna ilve+ud /25
- pO 4251+ 0.0
pL -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

A~ 1nuiLorae+V4 /25
., po 4215+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (08,4

T 1L b4 /e+u4 [ 25
pO 4218+ 0.0
pl -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
T nuig pbze+u4 5
- po 4238:‘
pl -36.54 + 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T~z 1o8e+04 / 25
pO 4255+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT rnuiLbrye+ud [ 25
P, po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

S nui fo/e+u4 [ 25
- pO 4212+ 0.0
p1 -34.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

Tinuy.z3/e+u4 [ 25
- pO 4254+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T inuiz1oze+ud [ 25
= pO 4266+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

K™ 1 nuioove+u4 / 25
__— po 4213+ 0.0
o pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

- 1L Yo3e+ud / 25
- pO 4235+ 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T nug.)rge+u4 [ 25
__ DO 4282+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

~ 1 nuiLysye+u4 | 25
- pD 4264+ 0.0
L pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

AT 1L saze+ud [ 25

po 4231+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- nuz 115e+04 / 25
pO 4240+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8
nu,. 1yse+u4 125

-
e pO 4275 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(C, bch) (0,815

1 nuiL yyze+u4 [ 25

e po 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

K™ 1nuiLoioe+ud /25
., po 4183+ 0.0
pl -35.68 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- 1 i goge+ud / 25
pO 4181% 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (O 9,8

T rnuig.uaze+u4 | 25
po 4217+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T rnuizazse+u4 | 25
pO 4221+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1w u/e+u4 | 25
., po 4179+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

- 1nuiLy4re+u4 [ 25
pO 4199+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

~ 1 nu.Ugse+u4 / 25
po 4212+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

Tinuzg/e+ud [ 25
pO 4198+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

AT inui g rse+04 /25
- po 4199+ 0.0
L p1 -36.34+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

-1 nuLys3e+ud / 25
- pO 4199+ 0.0
3 pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T nuig.g3ve+u4 / 25
= po 4249+ 0.0
- pl -36.02 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

Tz 1z8e+04 | 25
- pD 4209+ 0.0
L pl -34.22+ 0.00

- C = 29.22 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

T Lyie+ud /25
pO 4201+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- rnug 131e+04 / 25
pO 4216+ 0.0
pL -36.76+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T, 4b/e+u4/25
pO 4246+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T inuizuy/e+ud [ 25
po 4224+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.21 [ps/ch]

T rnuiLgi0e+u4 / 25
™ pO 4208+ 0.0
-34.23+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

- 1 i bYoe+ud / 25
e, pO 4225+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

Tz 38 e+u4 [ 25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

1z zupe+u4 | 25
= po 4260+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.07 [ps/ch]

A~ 1nun L57e+u4 [ 25
= po 4206+ 0.0
pl -34.4 + 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

- nu r83e+u4 / 25
- pO 4233+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

T nug. rgbe+u4 / 25
= po 4233+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (010,13

-1 nui yzae+ud [ 25
- pO 4254+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

- rnuz,uzse+u4 | 25
- pO 4235+ 0.0
[ pl -36.82+ 0.00

K™ 1 nuioyye+ud / 25
__ po 4214+ 0.0
L pl -34.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

T nugb33e+u4 [ 25
- po 4254+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

T rnuiLyyle+ud / 25
- pD 4262+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1L bsve+ud [ 25
o po 4229+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c, bch) (0,10, 7

- 1nu 139e+04 / 25
- pO 4258+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(cbch) (o, 10 1

T nuiz.asae+u4 [ 25
= pO 4249+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

-1 nui yove+ud / 25
- pO 4256+ 0.0
p1 -37.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A7 nunLsuse+ud / 25
4158+ 0.0
-34.71+ 0.00

1
50 100

TP delay

TVC(cbch) (0,11,4

[ns]

T L4 r5e+04 [ 25
4164+ 0.0
-34.13+ 0.00

[y po
p1
[ C =29.30 [ps/ch]y, 7
% i
TP delay [ns]
TVC(cbch) (0, 11 8) —
T rnuz 140e+U4 5
. po 4187:‘
pl -34.78 + 0.00

TP delay

TVC(cbch) (0,11, 12

B pO

[ns]

T Ly roe+u4 / 25
4213+ 0.0
pl -35.76 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

- po

AT rnunr1ze+ud [ 25
4161+ 0.0
pl -35.27 + 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

- nui bloe+u4d / 25
4191+ 0.0
pl -34.93 % 0.00

TP delay

TVC(cbch) (0, 11 9

= po

[ns]

T nup, /11e+u4 / 25
4209+ 0.0
p1 -34.77+ 0.00

TP delay

TVC(cbch) (011,13

== po

[ns]

Tonuaisiie+ud [ 25
4206+ 0.0
pl -35.57 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

=, PO

T roze+u4 [ 25
4175+ 0.0
pl -35.17 + 0.00

TP delay

TVC(cbch) (0,11,6

= PO

[ns]

-1 nuiL, r94e+04 [ 25
4212+ 0.0
pl -36.04 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X~ 1 nuiz.4p3e+04 [ 25
bese, po 4198+ 0.0
o pl -34.36 + 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

X~ 1L gsze+04 [ 25
pee. po 4218+ 0.0
L p1 -36.14+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

e po

AT 1L bole+ud [ 25
4185+ 0.0
-35.1+ 0.0

pl

TP delay

TVC(cbch) (0,11,7

e pO

[ns]

-1 i byye+u4 / 25
4197+ 0.0
pl -34.27 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

= pO

[ns]

T nuiz1ule+ud / 25
4214+ 0.0
pl -35.31+ 0.00

TP delay

TVC(c, bch) (0,11, 15

A rnan Ly

= po

[ns]

)

Be+u4 /25
4212+ 0.0
-34.9+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T, zoe+u4 [ 25
.. pO 4209+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,124

= 1 i BUbe+u4 / 25
pO 42174 0.0
pl -37.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

1 nuiz.49ve+04 | 25
- pO 4204+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T rnuiLyole+ud / 25
= po 4220+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

A1 164e+U4 | 25
P, po 4217+ 0.0
pL -37.78+ 0.00

TP delay [ns]

TVC(cbch) (0,125

-1 nui r4pe+04 [ 25
e pO 4209+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

<1 nu, /bbe+ud / 25
- pO 4224+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (012,13

Tinuazule+ud | 25
- pO 4222+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

K™ 1 nui ruse+u4 /25
_- po 4214+ 0.0
o pl -36.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

T rnui r51e+04 [ 25
e pO 4213+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T rnug.Use+u4 | 25
. po 4238+ 0.0
L p1 -36.49 + 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

~1nuiLgoze+u4 [ 25
- pD 4229+ 0.0
[ p1 -35.84+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT rnuiLbsre+ud [ 25
po 4238+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

- 1nu 124e+04 [ 25
4241+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

~ 1 nuizgule+ud / 25
= po 4250+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nui gove+ud [ 25
- po 4229+ 0.0
p1 -36.33+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

©rnuzpzse+u4 | 25
pO 4216+ 0.0
p1 -36.05+ 0.00

TP delay [ns]

TVC(Cbch) (o, 13 4

4000

3000

2000

1000

= rnu58/e+04 [ 25
=5 po 4235+ 0.0
pl -37.11+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 13,8

-/ uis yoze+U4 25
- pD 4262+ 0.0
p1 -34.54 + 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(chh) (0,13,1)

K- zr1e+u4 /25
= po 4214+ 0.0
pl 37+ 0.0

TP delay [ns]

TVC(c,b Ch) (0, 13 5

“nan 2 /9e+u4 | 25
== po 4238+ 0.0
pl -37.15+ 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(0, 13,9

~ 1 nubzZbe+ud 25
- pO 4285+ 0.0
-34.55 + 0.00

4000
3000 - ]
2000 - 7
to00r- C = 28.95 [ps/ch] ]

) - o
TP delay [ns]

TVC(Cbch) (o, 13 12

REALEEE o/?ewA 125
4000 [ po 4251+ 0.0
-34.56 + 0.00
3000 - 71
2000 - 7
l0r- C = 28.93 [ps/ch] ]
-
-
-
PR R B
50 100

TP delay

[ns]

toor C = 28.94 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 13 13

4000 [

~ 1 nuigsuBe+ud / 25
4252+ 0.0
-35.89+ 0.00

3000

2000

1000

TP delay [ns]

TVC(CbCh) (0,13,2)

4000

2000

1000

X~ 1wz 31e+04 [ 25
-, po 4220+ 0.0
[ p1 -35.62:+ 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 13 6

4000

3000

2000

1000

©1nuyoze+u4 | 25
- pO 4260+ 0.0
- pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

3,10)
11U, z39e+04 / 25
4000 =, pO 4304+ 0.0
[ p1 -34.83+ 0.00
a000| ]
2000 .
wor C =28.71 [ps/chl ™, 1
1 1 -
o 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(CbCh) (o, 13 14

= P"

T s8e+ud [ 25
4250+ 0.0
pl -35.17 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

A1z yage+ud | 25
- po 4240+ 0.0
p1 -37.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 7

= 1 nu,use+ud / 25
= po 4251+ 0.0
p1 -36.65+ 0.00

50 160
TP delay [ns]

TVC(Cbch) (0, 13 11

- s sdae+Us ] 25
- pO 4303 0.0
p1 -35.84+ 0.00

TP delay

TVC(cbch) (0, 13 15

[ns]

- 5.sbe+ud | 25
4269+ 0.0
pL -36.69+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

T L pzoe+u4 [ 25
P pO 4182+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,144

=i, rgye+ud / 25
e, pO 4203+ 0.0
p1 -34.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

T g, rove+u4 / 25
4202+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,12

~rnuiLyude+ud | 25
= po 4224+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT 1 nuiLryoe+ud [ 25
e, po 4195+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

=1 nui BuYe+u4 / 25
e, pO 4207+ 0.0
pL -35.01% 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

T a4 r9e+u4 [ 25
= pO 4218+ 0.0
p1 -36.17 + 0.00

TP delay [ns]

TVC(cbch) (014,13

T inuigsve+ud [ 25
- pO 4226+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,14,2)

1000

A7 1 nui szoe+04 /25
- po 4201+ 0.0
L pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.14,6

-1 i Bo4e+u4 [ 25
== pO 4206+ 0.0
[ pl -34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

T 1nuzg3ve+u4 | 25
o=, po 4232+ 0.0
- pl -36.11 + 0.00

TP delay [ns]

TVC(cbch) (0.14,14

T, 48e+04 / 25
- pD 4240+ 0.0
[ p1 -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT nuiLsbze+u4 [ 25
- po 4198+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

-1 nui yzye+u4 / 25
- pO 4206+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(eh.ch)=(0, 14, 11

Tonan 2. 33e+04 1 25
= pO 4231+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T nuiz.u4ae+u4 [ 25
- po 4245+ 0.0
p1 -37.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.64 [ps/ch]

-1 g9ze+04 [ 25
=N pO 4194+ 0.0
p1 -33.73+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (o, 15 4

= 1w e01e+04 / 25
== po 4210+ 0.0
pl -36.14 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (o, 15 8

- iz b41e+U4 [ 25
e, pD 4218+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(Cbch) (o, 15 12

- 1 nuiL ysye+u4 25
= po 4230+ 0.0
p1 -35+ 0.0

TP delay [ns]

TVC(chh) (0,15,1)

3000

2000 -

1000 [~

A1 L adae+Ud | 25
4000 .. po 4193+ 0.0
pL -33.2+ 0.0

C =30.12 [ps/ch] . 1]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 15 5

4000 S

3000

2000

1000 [~

Tonan 1 73e+04 /25
pO 4212+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(c, bch) (0, 15 9

3000

2000

1000

Tinunb./ye+u4 [ 25
4000 em, pO 4256+ 0.0
p1 -35,51+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15 13

4000 [

3000 -

2000

1000 |~

~ 1 nuiL yove+ud / 25
pO 4220+ 0.0
-34.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

X~ 1L 03e+u4 [ 25
P, po 4216+ 0.0
[ p1 -35.43+ 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 15 6

T, rg1e+u4 / 25
- pO 4218+ 0.0
- pl -36.56 + 0.00

TP delay [ns]

TVC(e,b,ch)=(0, 15, 10

- .0 Be+U4 | 25
E- pO 4276+ 0.0
L -36.2+ 0.0

TP delay [ns]

TVC(CbCh) (o, 15 14

-1, (yoe+u4 [ 25
- pD 4217+ 0.0
[ pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

A~ 1 nuiLb0ze+ud [ 25
po 4211£ 0.0
pL -34.99:+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 15 7

= 1nuiLa3e+ud | 25
= po 4233+ 0.0
p1 -36.71+ 0.00

50 160
TP delay [ns]

TVC(e,beh)=(0, 15, 11

[ C =28.94 [ps/ch]

-/ iz 1ode+Ud | 25
pO 4253+ 0.0
p1 -34.55+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (0, 15 15

- i yude+ud [ 25
== pO 4227+ 0.0
p1 -35.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

A7 1 nun suye+ud / 25
P, po 4182+ 0.0
pl -36.34+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

-1z 101e+04 / 25
™, pO 4164+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

1z z4ge+04 | 25
= po 4188+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T rnuizz41e+04 /25
= po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT 1 nuiLobse+ud [ 25
- po 4185+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

-1 nuz.0aze+u4d / 25
pO 4173+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nug ygbe+ud / 25
po 4209+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

Tinuz41e+u4 /25
pO 4200+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

AT 1nuiro1e+04 /25
i po 4179+ 0.0
[ p1 -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

-1 nurL9yse+ud / 25
-, pO 4184 0.0
3 pl -35.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T nuz343e+04 | 25
= po 4227+ 0.0
- pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

~ 1 nuizus4e+ud | 25
= pD 4213+ 0.0
L p1 -37.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1 nuiL rooe+ud [ 25
- po 4201+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- 1nu 1b3e+u4 / 25
e, pO 4194+ 0.0
p1 -36.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T zuue+u4/25
= po 4235+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Tonan 2 38e+ud [ 25
- pO 4207+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

T roe+ud /25
P pO 4175+ 0.0
pl -36.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- 1z 1ube+04 | 25
= pO 4175+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

1 nuiLYope+u4 / 25
- pO 4194+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

1L yode+u4 / 25
= po 42114 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nuLB1oe+ud [ 25
., po 4196+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

“nuiLYrve+u4 /25
pO 4193+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.08 [ps/ch] ]

~ 1 nu.3ule+ud / 25
4219+ 0.0
-34.38 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nuiy4se+ud [ 25
pO 4203+ 0.0
p1 -36.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 1 nui sove+u4 / 25
- po 4195+ 0.0
o pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

- 1nuz,034e+04 [ 25
- pO 4202+ 0.0
[ pl -36.07 + 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- C = 28.99 [ps/ch]

©1nuizylve+ud | 25
-, po 4226+ 0.0
- pl -34.49 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

~ 1z 1u4e+04 / 25
= pD 4213+ 0.0
+ pl -36.88 + 0.00

3000

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1 nuiLbse+ud [ 25
P, po 4202+ 0.0
pl -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- nun g1ze+u4 / 25
- pO 4202+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuz 1Z0e+04 / 25
- po 4229+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

-1 nui yye+ud [ 25
pee-, 4204+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

K™ 1 nuido1e+04 /25
. po 4194+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

T 1L b4 /e+u4 [ 25
e, pO 4213+ 0.0
pl -35.93 + 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

©1nuz5uze+u4 [ 25
= po 4197+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T rnuizur1e+u4 /25
= po 4240+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

x- 1 L bsae+U4 | 25
., po 4196 + 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui bl3e+u4 / 25
pO 4231% 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

"1 nugpble+ud / 25
po 4218+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

Tinuzsie+ud /25
pO 4238+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

A7 nun 4sae+04 /25
o=, po 4209+ 0.0
- pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

T rnu1bre+ud [ 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

T 3r3e+u4 [ 25
= po 4228+ 0.0
- pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

Tz zose+ud | 25
- pD 4239+ 0.0
L pl -36.27 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

T Lbse+ud / 25
- pO 4202+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

- nui gz/e+u4 / 25
- pO 4236+ 0.0
pL -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T Mbe+u4/25
= po 4250+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

T nuiz s45e+04 / 25
e pO 4234+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

K™ 1nuiLgroe+ud /25
.. po 4206+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T LYz /e+ud | 25
[, PO 4200+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

©1nuiz.419e+04 / 25
- po 4230+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T L gyze+u4 | 25
== po 4193+ 0.0
pl -33.45+ 0.00

[ C =29.90 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

A7 1 nuiLyoye+ud [ 25
o=, po 4206+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

S nui /o/e+u4 [ 25
F 4231+ 0.0
-38.5+ 0.0

% =
TP delay [ns]

TVC(c,b ch) (1 3,9

T nug y1se+ud / 25
- pO 4248+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (1,313

~ 1 nuiz.ybze+ud / 25
feee. 4194+ 0.0
-33.56 + 0.00

[ C =29.80 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

A~ 1nuzuore+ud /25
=, po 4210+ 0.0
L pl -36.17 + 0.00

3000

-1z, 0sye+ud [ 25
3 pO 4231 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

Tz z1se+u4 | 25
. po 4270+ 0.0
- pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Tz 130e+04 / 25
= pD 4190+ 0.0
L -33.47 + 0.00

- C = 29.87 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT rnuzusre+ud [ 25
= po 4224+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

~nui s /e+u4 [ 25
- pO 4236+ 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T, 1ue+u4/25
- po 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,3,15

-1 nui ybae+ud / 25
= pO 4198+ 0.0
-34.13+ 0.00

[ C=29.30 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

A7 1nug 13se+04 /25
- po 4220+ 0.0
p1 -38.4+ 0.0

TP delay [ns]

TVC(cbch) (14,4

T z1ze+u4 [ 25
= pO 4202+ 0.0
pl -35.06+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

©nuig.uzoe+u4 / 25
- pO 4242+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (1,412

Tz, 1s4e+04 / 25
= po 4207+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

T z.uoe+ud / 25
F pO 4224+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

- inu2 ge+ud | 25
== po 4217+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T nup.b3/e+u4 25
- po 4269+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T 1nuiz10ze+ud [ 25
— pO 4216+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

K™ nuig ioze+04 /25
F po 4227+ 0.0
o pl -38.11 + 0.00

TP delay [ns]

TVC(cbch) (14,6

T 1nuz.441e+04 [ 25
- pO 4221 0.0
[ pl -36.56 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T nugs1oe+u4 / 25
- DO 4290+ 0.0
L pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T zuoe+ud /25
- pD 4219+ 0.0
L p1 -35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

pl

AT rnuiLs/re+ud [ 25
4228+ 0.0
-37.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

RNAITDR

Fo=. pO
pl

19/e+u4 /25
4227+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO
pl

1)
T nuiz zzge+u4 [ 25
4277+ 0.0
-36.44 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

Tinuiz1ze+u4 /25
4211+ 0.0
-36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,50

A~ 1 nuig U4ae+04 | 25
s po 4191 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(cbch) (1,54

T Zzuge+ud [ 25
— pO 4224+ 0.0
p1 -36.08:+ 0.00

- C =
- o
TP delay [ns]
TVC(c,b ch) (1, 5 8

-z bsve+ud | 25
po 4235+ 0.0
p1 -36.46+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 12

“inuza1e+ud [ 25
pO 4252+ 0.0
pl -36.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

A7 1 nuz.2uoe+ud | 25
F... po 4196+ 0.0
p1 -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

~1nu 13%e+04 / 25
pO 4225 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

-y Gsae+ud | 25
- pO 4259+ 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

Tinuz.z4/e+u4 /25
- pO 4247+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

TP delay [ns]

TVC(cbch) (1,56

X~ 1 iz z8oe+u4 | 25
_=_ po 4200+ 0.0
[ p1 -35.76 + 0.00

3000

T z2.29e+04 1 25
- pO 4241+ 0.0
- -36.8+ 0.0

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

0

- 1 i 26 7e+U4 | 25
E- pO 4273 0.0
L pl -37.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 14

Srnun z11e+04 /25
- pD 4246+ 0.0
[ pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

A~ 1 nuiz3o1e+ud [ 25
= po 4209+ 0.0
pL -35.15+ 0.00

[ C=28.45[ps/ch ]
o o
TP delay [ns]

TVC(c,b ch) (1 57

S rnan 2.31e+04 1 25
- pO 4243+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, 4bse+u4/25
- po 4280+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

-z usse+ud [ 25
- pO 4256+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

AT inuiLyrze+V4 /25
4193+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(cbch) (16,4

- i b13e+u4 / 25
4220+ 0.0
-36.86 + 0.00

=, po
pl
- C -1
1 1 -F
50 100
TP delay [ns]
TVC(cbch) (16,8)
S rnunz.z9e+u4 [ 25
= pO 4221+ 0.0
pl -34.92 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

pO
p1

Tz usie+ud | 25
4232+ 0.0
-37.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

A™ 1 nuz.Uooe+ud [ 25
4197+ 0.0
-36.74 % 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nui Byze+u4 [ 25
4217+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

T nun.Uble+ud / 25
4241% 0.0
-35.33+ 0.00

TP delay [ns]

TVC(C, bch) (1,6,13

T inuiz 118e+ud [ 25
4228+ 0.0
-36.54 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,6,2)

™, DO

T Lyae+ud /25
4205+ 0.0
-37.56 + 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

Rt
= P°
p1

BYe+u4 | 25
4220+ 0.0
-35.74 + 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- o

T 1nuzag1e+ud [ 25
4256+ 0.0
-35.11 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

T 1nuizyole+ud / 25
4222+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1 nuiz114e+04 /25
4212+ 0.0
-35.98+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1 6,7

- nui /gye+u4 / 25
4219+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T yu/e+u4/25

4246 £ 0.0
-34.75+ 0.00

[ C =28.78 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,6,15

T nuiz 1se+ud [ 25
4214+ 0.0
-36.27 + 0.00

TP delay [ns]



TVC(cbch)(l?O) TVC(cbch)(l7l) TVC(cbch)(172) TVC(cbch)(173)
AT 1nuiLssie+u4 /25 A™ 1 nuz.Uooe+ud [ 25 A~ 1nui rose+u4 /25 AT 1z 1zoe+ud [ 25
4000 e, PO 4185+ 0.0 4000 - po 4202+ 0.0 4000 __- po 4195+ 0.0 4000 e po 4212+ 0.0
pl -35.5+ 0.0 pl -36.41+ 0.00 : pl -35.64 + 0.00 pl -36.69 + 0.00

-1 3000

3000 -1 3000

-1 3000

2000 -1 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,7,4) TVC(cbch) (1,7,5) TVC(cbch) (1,7,6) TVC(cbch) (17,7
- i blbe+u4 / 25 =1 nui Buye+u4 / 25 = 1L bu8e+u4 [ 25 - nui ryge+u4 / 25
4000 fom, pO 4197+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4239+ 0.0 4000 e, pO 4221% 0.0
pl -36.88 + 0.00 pL -36.66 + 0.00 [ pl -37.09:+ 0.00 pL -37.38+ 0.00
3000 - 3000 =1 3000 :— —: 3000 -
2000 - E 2000 - 2000 3 2000 - E
1000 C = 1000 - 1000:— C =26.96 [pS/Ch — 1000 C =
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(178) TVC(cbch)(17 ) TVC(cbch)(l?lO) TVC(cbch)(17 1)
©1nu pzoe+ud / 25 T nun 338e+U4 / 25 ©1nu s39e+04 [ 25 T ruiz.uale+ud [ 25
4000 e pO 4219+ 0.0 4000 pO 4220+ 0.0 ) DO 4228+ 0.0 4000 P, p0 4239+ 0.0
pl -36.51+ 0.00 pL -35.84 + 0.00 [ pl -35.98 + 0.00 pL -36.64 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(l?l ) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)
T i pyse+ud / 25 T 1 obe+u4 [ 25 ~ 1L ogye+ud / 25 T 1 bage+u4 [ 25
4000 e pO 4227+ 0.0 4000 pO 4229+ 00 4000 o, PD 4224% 00 4000, pO 4232+ 00
pl -35.55+ 0.00 pl -36.47 + 0.00 r pl -35.53+ 0.00 pl -35.74 + 0.00
3000 - 3000 B 3000 — 3000 b
2000 4 2000 N 2000 — 2000 1

1000 1 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

AT inunLsize+04 /25
P po 4174+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (18,4

-1 zbge+u4 [ 25
pO 4213+ 0.0
pl -37.93+ 0.00

| ==
50 100
TP delay [ns]

TVC(cbch) (1 8,8

Tz 1z1e+04 /25
- pO 4204+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (1,812

©rnuiLgy4e+u4 / 25
= po 4239+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

X1 i Save+ud | 25
e, po 4202+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

1 nuiLasge+ud [ 25
== po 4205+ 0.0
pl -37.45+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

T nup.p1ze+u4 [ 25
= pO 4231+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

Tinun L obe+ud /25
- pO 4221+ 0.0
pl -35.37+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

A~ 1 nuiLguse+ud / 25
- po 4204+ 0.0
L pl -36.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

T L brbe+u4 [ 25
- pO 4208+ 0.0
3 pl -37.14 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T nuzgg1e+u4 [ 25
= po 4242+ 0.0
- pl -36.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

TrnuizuLie+ud [ 25
- pD 4238+ 0.0
[ p1 -37.13+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L Bsoe+ud [ 25
- po 4208+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (18,7

= 1 nui bade+ud | 25
= po 4210+ 0.0
pl -37.24+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T 959e+u4/25
= po 4236+ 0.0
p1 -36.14+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

Tinuiorze+ud /25
= pO 4238+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



TVC(cbch)(190) TVC(cbch)(lQl) TVC(cbch)(192) TVC(cbch)(193)
AT 1L yzse+ud [ 25 A~ 1 nwuzguye+ud | 25 AT 1nuizu4e+04 [ 25 A~ 1 nwuizusoe+ud | 25
4000 e, po 4195+ 0.0 4000 fmm,, pO 4206 0.0 4000 e, PO 4202 0.0 4000 PO 4235+ 0.0
pl -36.22+ 0.00 pl -35.93+ 0.00 : pl -36.33 i_0.00 pl -38.2+ 0.0

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

0, 1 0, 1 -—
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,4) TVC(cbch) (1,9,5) TVC(cbch) (1,9,6) TVC(cbch) (1,9.7)
Crna15/e+04 /25 -1 nui baze+u4d [ 25 - UL Bu3e+u4 / 25 S nun 1 8ze+u4 [ 25
4000, pO 4210+ 0.0 4000 e, pO 4224+ 0.0 4000 e pO 4230+ 0.0 4000 e, pO 42341 0.0
pl -36.36 + 0.00 pL -36.82.+ 0.00 3 pl -37.04+ 0.00 pL -36.13+ 0.00
3000~ T 3000 B 3000 — — 3000 4
2000 4 2000 - 2000 — — 2000 - -
1000 C - 1000 - 1000:— C=27.00 [pS/Ch — 10001 C -
0 EY 00 = 0 0 EY 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
© 1L s8Ye+u4 / 25 T 1y 4pbe+u4 [ 25 Tnug.z1ze+u4 [ 25 T 338e+u4 [ 25
4000 e pO 4182+ 0.0 4000 pO 4214 0.0 e DO 42312 0.0 4000 P, p0 4223+ 0.0
-34.03 0.00 pL -34.76+ 0.00 [ pl -35.68:+ 0.00 pL -34.22+ 0.00
3000 [~ B 3000 B 3000 ' 3000 -
2000 - 2000 — 2000 . 2000 B

] 1000 1000}

w0k C = 29.39 [ps/ch] wob C = 29.22 [ps/ch]

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(1914) TVC(cbch)(1915)
TinuzuL/e+ud /25 T yore+ud [ 25 Trnun zuse+u4 [ 25 Tz, uure+u4 [ 25
i pO 4208+ 0.0 4000 [ 4196+ 0.0 4000 PD 4201+ 0.0 4000, 4209+ 0.0
pl -34.86 + 0.00 -34.25+ 0.00 : pl -35.43+ 0.00 -34.37 + 0.00
3000 N 3000 [ 1 3000 ' 3000 [ B
2000 B 2000 - 2000 ' 2000 E

1000 1000

1o C = 29.20 [ps/ch] ] o C = 29.10 [ps/ch] §

PR BRSNS | PR PR S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,10,0)

K™ 3e+U4 /25
e, PO 4198+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

T i, r3ze+04 [ 25
- pO 4186+ 0.0
pl -34.54 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

- rnuzy0/e+u4 [ 25
- PD 4230+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

- 1nuizusge+u4 | 25
= pO 4224+ 0.0
pl -34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

TVC(cbch) (1,10,1)

3000

2000

1000

A7 1 nuiLbobe+u4 / 25
4000 [, po 4214+ 0.0
pL -35.96 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

2000 o

3000 -

2000

1000 [~

S nun 1 /be+ud [ 25
DU 4187+ 0.0
pL -35.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1,10,9

4000 e

3000

2000

1000

Tona4.3/e+04 /25
DO 4236+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (110,13

4000 &,

3000

2000 |-

S rnan L le+ud [ 25
PO 4229+ 0.0
pl -33.06 + 0.00

w00 C = 30.25 [ps/ch] ™. 1

PR
50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (1,10,2)

X~ 1L bore+U4 /25
- po 4201+ 0.0
I pl -35.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

T 1.83e+u4 /25
- pO 4205+ 0.0
[ Pl -3546% 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

Tz 30e+ud [ 25
- DO 4253+ 0.0
3 PL_ -36.56% 0.00

TP delay [ns]

TVC(cbch) (110,14

Tz usle+ud | 25
4229+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,10,3)

A~ 163e+04 1 25
- PO 4199 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-1 ybye+ud [ 25
- PO 4218+ 0.0
Pl 3582+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiz.ybse+ud / 25
- pO 4278+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T yare+u4 [ 25
= 4213+ 0.0
-33.78+ 0.00

[ C=29.61 [ps/ch] ]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (1, 11 0)

a1 ye+ud /25
o= pO 4202+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,114

T rnuLgl/e+ud / 25
[, PO 4206+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

1 nuip, 138e+04 / 25
= po 4228+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 11 yode+ud [ 25
po 4241+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

A1 Ui 2uae+ud [ 25
= po 4211+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (1,115

“1nuz.u/ge+u4 / 25
- pO 4203 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

- g.azerud [ 25
e pO 4255 0.0
pL -37.69+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T nuiz.uloe+ud / 25
pO 4239+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1,11, 2)

A7 1 nuizuzoe+u4 /25
- po 4226+ 0.0
L pl -37.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

-1 nuz,uzbe+u4 [ 25
- pO 4222+ 0.0
[ pl -36.21+ 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1 nugn3/e+ud /25
= po 4272+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1L yore+ud [ 25
- po 4236+ 0.0
[ p1 -37.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1 nuzuzoe+ud [ 25
- po 4228+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

=1 nui ysbe+u4 / 25
- pO 4231% 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T nuzoole+ud [ 25
- po 4276+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (111,15

-1 nui yyye+ud / 25
e po 4245+ 0.0
p1 -37.6+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

©rnuiLbyse+u4 [ 25
P pO 4155+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(cbch) (1,124

© i rZoe+u4 | 25
- pO 4172 0.0
pl -35.28:+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

©1nuzba0e+04 [ 25
4198+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

T rnuiLy4re+u4 /25
pO 4194+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 muLoroe+ud [ 25
peoe.. po 4164+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (1,125

~nuiLgr1e+u4 / 25
o pO 4186+ 0.0
pL -35.61% 0.00

50 1(;0
TP delay [ns]

TVCEebeh)=( 1, 12,9

T nai133e+u4 / 25
= po 4203+ 0.0
p1 -34.37 + 0.00

[ C =29.10 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (112,13

- T 1 nui gyae+ud / 25
- pO 4193 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

X~ 1 Lole+ud /25
- po 4173+ 0.0
L p1 -34.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

- 1 nuiLyyge+u4 / 25
4184+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

T nuizygle+ud | 25
= po 4224+ 0.0
- pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (112,14

T 1nuizusse+ud | 25
pD 4209+ 0.0
pl -36.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

A1 193e+ud | 25
pe=. po 4180+ 0.0
p1 -34.49+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

-1 nui y33e+u4 / 25
- pO 4198+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

-1 nuiz.zu8e+u4 | 25
= po 4216+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (112,15

- Tonan g goe+ud [ 25
4197+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 13 0)

T, sz1e+04 [ 25
4205+ 0.0
-37.61+ 0.00

50 100

TP delay [ns]

TVC(cbch) (1,134

T rnuar3e+04 [ 25
pO 4212+ 0.0
pl -35.31: 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T, (z4e+04 | 25
= po 4195+ 0.0
pl -34.33+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

Tz 1zze+04 /25
= po 4252+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

P PO

p1

X- 1 1 sa4e+U4 | 25
4204+ 0.0
-37.02:+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

-1 nu.blae+ud [ 25
4225+ 0.0
-35.68 + 0.00

TP delay [ns]

TVCEbeh)=( 1, 13,9

T nu.z/oe+ud [ 25
4254+ 0.0
-34.83 + 0.00

[ C =28.71 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,13,13

X rnanz

e, po
p1

voe+ud / 25
4255+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,13,2)

TP delay [ns]

TVC(cbch) (1,136

A1 B s8e+U4 | 25
_=_ po 4204+ 0.0
L pl -36.9+ 0.0

3000

- rnubu1e+ud [ 25
- pO 4234+ 0.0
[ pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

©1nuig, rype+u4 / 25
F DO 4265+ 0.0
F pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

T zuze+ud [ 25
- pD 4238+ 0.0
L pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

[Foten po

AT 1 nuy.ozse+u4 [ 25
4227+ 0.0
pl -36.39+ 0.00

TP delay

TVC(c, bch) (1,137

o, pO

[ns]

-1 nu byye+u4 / 25
4240+ 0.0
pl -36.45+ 0.00

TP delay

TVC(ebeh)=(1, 13, 11

= pO

[ns]

T nui r30e+04 / 25
4259+ 0.0
pl -36.01+ 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

T inuiz1ule+ud / 25
4257+ 0.0
p1 -37.17+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

~ L bove+u4 / 25
- pO 4201+ 0.0
pl -36.89+ 0.00

TP delay [ns]

TVC(cbch) (1,144

- i, 2be+04 | 25
™, pO 4178+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (1,14,8

— T nuig.page+u4 | 25
= pO 4174+ 0.0
-33.3+ 0.0

[ C =30.03 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

T ry1e+u4 / 25
= po 4262+ 0.0
pl -37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT nun L /be+ud [ 25
P, po 4195+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c, bch) (1,145

- rnuiLyle+u4 /25
™, DU 4192+ 0.0
pl -37.27+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

~ 1 nu.usse+u4 25
= po 4200+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (114,13

~ 1 nui oyge+ud [ 25
= pO 4255 0.0
pl -37.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

TP delay [ns]

TVC(cbch) (1,146

K™ 1 nuisble+ud /25
- po 4214+ 0.0
L pl -36.83+ 0.00

3000

— - i Bz3e+u4 [ 25
- pO 4176+ 0.0
F Pl -36.64+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

T nuig.zsbe+u4 | 25
o=, po 4225+ 0.0
o pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

T, ruse+u4 / 25
- pD 4262+ 0.0
L pl -37.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT 1 nuiLoble+ud [ 25
- po 4231+ 0.0
p1 37.2+ 0.0

TP delay [ns]

TVC(c, bch) (1,14,7

- i grye+u4d / 25
- pO 4200+ 0.0
pL -36.32:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

-1 nuiz.auze+u4 25
= pO 4215+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

Tinai pble+ud [ 25
4256+ 0.0
-36.71+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuizuLse+ud [ 25
- pO 4206+ 0.0
pl -38.09 + 0.00

TP delay [ns]

TVC(cbch) (1,154

Tz 1z/e+04 /25
- pO 4226+ 0.0
pl -36.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuzpobe+u4 / 25
- po 4227+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T rnuzzsoe+u4 | 25
= po 4234+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

. PO

AT 1nuzuL/e+ud [ 25
4208+ 0.0
p1 -37.41+ 0.00

TP delay [ns]

TVC(cbch) (1,155

- pO

- 1nu143e+04 / 25
4229+ 0.0
pl -36.33+ 0.00

TP delay

TVC(c, bch) (1, 15 9

= po

[ns]

<1 nub.p45e+U4 / 25
4260+ 0.0
pl -36.48 + 0.00

TP delay

TVC(cbch) (115,13

= po

[ns]

T nuiz.uloe+ud / 25
4230+ 0.0
pl -35.55+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

A7 1 nun ysse+u4 / 25
_l' po 4229+ 0.0
o pl -38.31+ 0.00

3000

- rnuz191e+u4 / 25
- pO 4231 0.0
[ pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T nuigsule+ud / 25
- DO 4273+ 0.0
L pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (115,14

T zule+ud /25
- pD 4238+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1z suze+ud [ 25
4218+ 0.0
pl -36.92+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

-1 nui yzve+u4 / 25
4232+ 0.0
pl -35.41+ 0.00

TP delay

TVC(eheh)=(1, 15, 11

- pO

[ns]

T nuz.40e+04 [ 25
4291+ 0.0
p1 -36.44 + 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

T inuiz 119e+ud [ 25
4236+ 0.0
p1 -35.33+ 0.00

TP delay

[ns]



TVC(e.eh=(2,0,0) TVC(eb.ch)=(2,0, 1) TVC(eb.eh=(2,0,2) TVE(ED.ch=(2,0,3)
X~ 1 g, love+U4 25 X~ i dsve+ud [ 25 X~ 1 iz 4ue+0d [ 25 A~ So1e+Ud ] 25

4000, po 4207+ 0.0 4000, po 4222+ 0.0 40008, po 4215+ 0.0 4000 o, po 4208+ 0.0
Pl -37.69+ 0.00 Pl -37.54% 0.00 3 pl -36.6+ 0.0 Pl -36.37%0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 = 2000

1000 7 1000 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

Tnug, (?449*04 125 Trnur | l?bQE*U5 125 Tnug; ﬁ)dueﬂjd 125 T L)U4E+l)5/25
4000 pO 4194 0.0 40008 DU 4196+ 0.0 4000 [ pO 4215+ 0.0 4000 f pO 4214+ 0.0
Pl 3484+ 000 3452+ 0.00 [ PL_ -35.47+000 Pl 3472+ 000
3000 E 3000 — s000 ] 3000 ]
2000 — 2000 - - 2000~ ] 2000 [ 7
I 1 1000 = B woof = B
1000 w0 C = 28.96 [ps/ch] 4 : C =28.19 [ps/ch ] C =28.81 [ps/ch] .
" " - -
EY 00 5 T 2 EY Fo— 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 1z, (ope+u4 [ 25 4000 -1 nu.Ubse+ud / 25 4000 1 nuigpuye+u4 / 25 EEALVA yz::e+u4/25
4188+ 0.0 = DO 4201% 0.0 - DO 4228+ 0.0 4000 pom, pO 4237+ 0.0
-35.1+ 0.0 pl -35.93 + 0.00 r pl -36.44 + 0.00 pl -36.22 + 0.00

-1 3000

3000 =1 3000 =1 3000 -1

2000 - 2000 - 2000 -1 2000

1000 ] 1000 - 1000 = 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(cbch)(2014) TVC(cbch)(2015)
T rnwgzzze+04 | 25 T inu sble+ud / 25 T z.30e+u4 /25 T nuiz syze+ud [ 25
1000 o, PO 4207+ 0.0 4000 PO 4222+ 0.0 4000 __- PD 4219+ 0.0 4000 g, PO 4206+ 0.0
pl -34.44+ 0.00 pl -35.72+ 0.00 r pl -35.16 + 0.00 pl -34.63+ 0.00

- 3000

3000 -1 3000 - 3000 -

2000 - 2000 2000 — 2000

1000 1000 1000 N __ 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0)

T gure+ud /25
| pO 4222+ 0.0
p1 -40.36 + 0.00

TP delay [ns]

TVC(cbch) (21,4

- 1L goge+ud / 25
4179+ 0.0
-35.41+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

T rnuzbyle+u4 [ 25
- po 4217+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (21,12

T rnuizg14e+04 /25
= po 4206+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1 nug.1sve+ud [ 25
[ po 4216+ 0.0
pl -39.14 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

- rnu1/oe+u4 / 25
Frwe pO 4194+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

. Hquzye+u4/25
- pO 4244+ 0.0
-37.2+ 0.0

TP delay [ns]

TVC(cbch) (21,13

T inuzas/e+ud [ 25
= pO 4228+ 0.0
pl -36.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

X~ 1y psre+u4 /25
_l'_ po 4221+ 0.0
- pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (21,6

-1 nuz 2u8e+04 [ 25
F.-.. pO 4199+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

T 2.38e+u4 /25
- po 4244+ 0.0
- pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (21,14

~ g 5Ese+u4 [ 25
n DD 4222+ 0.0
r -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

A1 nug 4use+ud [ 25
4229+ 0.0
-37.97 + 0.00

- PO

pl

TP delay [ns]

TVC(c,b ch) (2 1,7

pO
pl

- 1nu 135e+04 / 25
4198+ 0.0
-35.79 % 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 1

= pO

EEALEVX sze+U4/25
4249+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(cbch) (21,15

e, po

p1

<1 nuiz 19ve+ud [ 25
4204+ 0.0
-35.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1

va4e+u4 | 25
4176+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (2,24

P, PO
pL

-1 byze+ud / 25
4198+ 0.0
-37.34+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

B pD

Tz 3uze+u4 | 25
4191+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

T~z 104e+04 / 25
4237+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

Ao,

=, po

p1

133e+U4 [ 25
4189+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

-1 nui gzye+u4 [ 25
4183+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

T a2z oe+ud [ 25
4235+ 0.0
-35.6 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (2,213

T nuiz.a30e+ud [ 25
4223+ 0.0
-36.32+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, po

AT inuairse+04 /25
4193+ 0.0
pl -36.79+ 0.00

TP delay

TVC(cbch) (2,2,6

pO
p1

[ns]

-1 nurLgyyze+ud | 25
4198+ 0.0
-37.12+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

T 1nuiz4p1e+04 /25
4228+ 0.0
pl -36.13 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

~ 1z 150e+04 / 25
4229+ 0.0
pl -37.05+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

Bove+u4 / 25
4206+ 0.0
-37.68+ 0.00

AL

= PO

pl

TP delay [ns]

TVC(c,b ch) (2 2,7

- 1nui 9y /e+u4 / 25
4202+ 0.0
-37+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

pl

EEALEVX uuue+u4/25
4221+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(C, bch) (2,215

e pO
p1

T nuiz 1bae+ud [ 25
4223+ 0.0
-35.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

AT 1nun szze+04 /25
P po 4207+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- i gsze+ud [ 25
e, pO 4209+ 0.0
pl -36.65+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

T rnuigpule+ud / 25
= po 4227+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (2,312

T rnuz.z9se+ud | 25
= po 4230+ 0.0
pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

x- 1L 7 sae+U4 | 25
o=, po 4215+ 0.0
pL -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui B31e+u4 / 25
e, pO 4197+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 3,9

- nai ogze+ud [ 25
= po 4258+ 0.0
pl -37.66 + 0.00

TP delay [ns]

TVC(C, bch) (2,313

T inuiz 148e+ud / 25
= pO 4228+ 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

K™ 1 nui rose+u4 / 25
- po 4211+ 0.0
L pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

S i1 8be+u4 [ 25
e pO 4219+ 0.0
[ pl -35.99 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

1000

1 nuig3yve+ud | 25
. po 4270+ 0.0
- pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

Tz 1s3e+u4 [ 25
4227+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT 1 nuiLblye+ud /25
- po 4208+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nu.Ubze+u4 / 25
- pO 4198+ 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

EALER yue+u4/25
4259+ 0.0
-36+ 0.0

TP delay [ns]

TVC(C, bch) (2,315

T nuiz.10ze+u4 [ 25
- po 4229+ 0.0
p1 -36.08 + 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
K- 1 duverUa ] 25 K- 1zbzae+Us ] 25 X~ 1 dove 04 ] 25 % 1 duoe+ud | 25
4000 fme, po 4205+ 0.0 4000 [, po 4191+ 0.0 4000 e, po 4198+ 0.0 4000 fe, po 4220% 0.0
Pl 3507+ 0.00 pl  -3459: 0.00 [ Pl -35.41% 0.00 Pl -36.45: 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

- i Bage+u4 / 25 -1 Boye+ud [ 25 - L y3ge+ud [ 25 -1 nui Yyze+u4 / 25
4000 pO 4209+ 0.0 4000 e, pO 4219+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
pl -35.93 + 0.00 pL -35.98 + 0.00 3 pl -36.92 % 0.00 pL -36.41+ 0.00
3000~ 1 3000 - 3000 [~ B 3000 1
2000 - — 2000 - 2000~ - 2000 4
10001~ C E 1000 - 1000 r C=27.09 [pS/Ch ] 1000 C -
- I 1 -
-'- -' --
1 1 1 1 1
EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

© 1 nu boge+ud [ 25 <1 1ub, gobe+u4 / 25 T nug.494e+04 / 25 T, 4z=e+u4/25
4000 4245+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4276+ 00 4000, p0 4281% 0.0
Pl -38.43% 0.00 pL_ -37.48% 0.00 [ PL_ -37.34% 0.00 Pl -37.69+ 0.00

-1 3000

m
o
S

3000~ 1 3000 -1 3000 .

2000 1 2000 E 2000 B 2000 g
1000 4 1000 - 1000 - 1000 4
. - [
'
% 50 00 0 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 12) TVC(c,b Ch) (2, 4 13) TVC(c,b Ch) (2, 4 14) TVC(c,b Ch) (2, 4 15)
Tonun L goe+u4 /25 T g3se+u4 [ 25 T ssze+u4 [ 25 T yore+u4d [ 25
4000 [, pO 4245+ 0.0 4000 [ pO 4230+ 0.0 4000 [, PD 4233+ 0.0 4000 e, pO 4238+ 00
pL -34.71+ 0.00 -35.15+ 0.00 L Pl -3522%0.00 pl 3516+ 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

w00 C = 28.81 [ps/ch] . ] 1000 - , — 1000: — 1000 E
IS(I)Illllc:OI- Illlgldlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0)

A7 1 nui oove+u4 / 25
4215+ 0.0
-35.92+ 0.00

TP delay [ns]

TVC(cbch) (2,54

AL

™, pO
pl

1u3e+U4 / 25
4188+ 0.0
-36.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

= pD

T rnuz431e+04 /25
4215+ 0.0
-34.58 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,5,12

- po
p1

1L pove+ud / 25
4232+ 0.0
-34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

e, O

AT rnunLrzse+ud [ 25
4209+ 0.0
-35.47 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 55

S nun1y3e+u4 [ 25
4199+ 0.0
-37.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

pO
p1

~ 1 nu, Uobe+ud / 25
4239+ 0.0
-34.57 + 0.00

I C =28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (2,5,13

T nuisble+ud / 25
4241% 0.0
-34.1+ 0.0

[ C =29.32 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000
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TVC(cbch)(340) TVC(cbch)(341 TVC(cbch)(342) TVC(cbch)(343)

TonunLyze+ud [ 25 AT 1 nuiLy1ye+u4 / 25 2000 X~ 1w ys4e+U4 [ 25 4000 Tonun Lyse+ud [ 25
4000 4193 0.0 4000 fo,, po 4190+ 0.0 - po 4187+ 0.0 - po 4206+ 0.0
-36.81 0.00 p1 -36.35+ 0.00 I pl 359+ 0.0 pl -36.97 + 0.00

3000

1 3000 -1 3000 -1 3000

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (34,4 TVC(cbch) (34,5 TVC(cbch) (34,6 TVC(c, bch) (3,47

- i ro4e+04 / 25 T Yr3e+ud [ 25 T Lyl /e+u4 [ 25 -1 nui Bole+u4d / 25
4000 fm, pO 4228+ 0.0 4000 pO 4232+ 0.0 4000 [, pO 4240+ 0.0 4000 e, pO 4248+ 0.0
Pl -36.18+ 0.00 Pl -36.83: 0.00 3 pl -37.51 0.00 Pl -36.07:0.00

3000~ B 3000 - 3000 — 3000 g

2000 E 2000 E 2000 - 2000 g

1000 C B 1000 B w001~ C = 26.66 [pS/C ] 1000 C —

" [ e ] -
- - -
I 2 L I i I =
EY 00 0 0 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3 4,8 TVC(cbch) (3 4,9 TVC(cbch) (3, 4 10 TVC(c, bch) (3, 4

©1nuis.440e+04 / 25 -1 nu. yzye+ud / 25 Tz, 1/e+u4 /25 T o zue+u4/25
4000 pO 4210+ 0.0 4000 pO 4230+ 0.0 4000 o DO 4240+ 0.0 4000 o, p0 4244+ 0.0
-34.43+ 0.00 pl -34.99 + 0.00 I pl -35.93+ 0.00 pl -35.06 + 0.00

- 3000

3000 - 3000 -1 3000 -

2000 [~ - 2000 - 2000 I 2000

- 1000

- 1000 1000

oo C = 29.04 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(C, bch) (3,4,13 TVC(cbch) (34,14 TVC(C, bch) (34,15

1 nuiLyooe+u4 / 25 4000 T inuzusie+ud [ 25 4000 T L gIoe+u4 / 25 4000 TinuiLsl/e+ud /25
41000 o, PO 4236+ 0.0 - PO 4223+ 0.0 - PD 4222+ 0.0 - PO 4225+ 0.0
pl -36.6 + 0.0 pl -37.42+ 0.00 r pl -37.02+ 0.00 pl -36.25+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ 1nui 7 zee+u4 | 25
Fe po 4201 0.0
p1 -35.38+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- 1 945e+04 [ 25
= po 4213+ 0.0
pl -35.46 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 5,8

- s Szue+ud [ 25
- pD 4240 0.0
p1 -35.08:+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

po
p1

T rnuz.zioe+u4 | 25
4293+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT L, 32e+u4 [ 25
F.. po 4228+ 0.0
p1 -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3 55

T rnan zuge+ud | 25
e, pO 4203+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3 59

T inaigprye+ud [ 25
- pO 4269+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

T nuiy4ne+ud [ 25
pO 4281% 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

X~ 1 1L boze+u4 [ 25
. po 4232+ 0.0
[ p1 -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

-1z, 0se+u4 / 25
- pO 4207+ 0.0
[ p1 -34.48+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 5, 10

- 1 nuis.124e+04 | 25
- pO 4284+ 0.0
[ p1 -35.05+ 0.00

- C = 28.53 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

= 1 nuizg0oe+u4 [ 25
pD 4282+ 0.0
pl -36.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

A 1z aerud | 25
- po 4240+ 0.0
p1 -35.91% 0.00

TP delay [ns]

TVC(c,b ch) (3 57

= nui g30e+ud | 25
= po 4219+ 0.0
pl -34.45+ 0.00

[ C =29.02 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

T, 4/be+u4/25
- pO 4289+ 0.0
p1 -35.14+ 0.00

[ C =28.45 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

T 1nuizyu/e+ud [ 25
- pO 4294+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

X~ 1w bave+U4 [ 25
™, PO 4175+ 0.0
pl -34.27 + 0.00

TP delay [ns]

TVC(cbch) (36,4

S rnun 1 bre+ud /25
- pO 4240+ 0.0
pl -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nug.Uebe+u4 / 25
- PD 4228+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

“nun g yae+ud [ 25
- PO 4221+ 0.0
pl -35.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nuiLbrse+ud [ 25

- po 4187 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

Snun1/1e+04 /25
- DU 4256+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nun 35 /e+u4 /25
- DO 4256+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T 1L sobe+u4 / 25
pO 4233+ 0.0
pl -36.03 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

X~ 1L bs4e+U4 /25
[, PO 4203+ 0.0
I pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

~ i, 7obe+u4 [ 25
- pO 4258+ 0.0
3 pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

1000

T rnun zooe+u4 /25
= DO 4249+ 0.0
I pl -35.42 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

-1 L Soe+ud [ 25
PD 4245+ 0.0
pl -36.63 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLbose+u4 / 25
- PO 4192+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

- 11 byse+ud / 25
- PO 4261+ 0.0
Pl -38.03: 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

Sz 1be+u4/25
- pO 4264 £ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T nui yze+ud [ 25
PO 4239+ 0.0
-35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

K™ 1 nui oyze+ud /25
.. po 4195+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

T bzie+ud [ 25
e, pO 4204+ 0.0
pl -35.50+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

1 nuz.goge+u4 | 25
= po 4212+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

~1nuizuose+ud | 25
pO 4225+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT rnuzzrse+ud [ 25
P, po 4200+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui B14e+04 / 25
4193+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nuy. 7uze+ud | 25
po 4239+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T 1 nui gyae+ud 25
== pO 4209+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

A7 nuig 1zoe+V4 /25
_- po 4215+ 0.0
o pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

T 1Ly /e+04 [ 25
- pO 4212+ 0.0
3 pl 36+ 0.0

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Tnugb/e+u4 [ 25
= po 4254+ 0.0
o pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (37,14

~ 1 nuiLyoze+ud | 25
E pD 4209+ 0.0
L p1 -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1L yoe+ud [ 25
=, po 4215+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui Yoye+ud / 25
- pO 4225+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T, /55e+u4/25
= po 4253+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T nui s4se+ud [ 25
- po 4215+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

K™ 1nuiLoore+u4 /25
., po 4218+ 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(cbch) (38,4

- i b3ve+ud / 25
pO 4222+ 0.0
p1 -35.44+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

©1nuig.uyge+u4 / 25
pO 4249+ 0.0
pl -38.39+ 0.00

1 1
50 100
TP delay [ns]
TVC(Cbch) (3, 8 12

T 1 gae+ud /25
pO 4237+ 0.0
pl -36.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1L bsoe+ud [ 25
., po 4197+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

~nui r4ze+04 [ 25
pO 4209+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~ b, 3uBe+U4 [ 25
po 4265 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

T nui p4ze+u4 [ 25
pO 4233+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,8,2)

K™ 1 nuioyoe+u4 / 25
- po 4199+ 0.0
L pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

- 1 nuiLBaye+u4 [ 25
- pO 4217+ 0.0
[ pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

Tz, fu1e+u4 / 25
- po 4271+ 0.0
- pl -38.08 + 0.00

50 100

TP delay [ns]

TVC(cbch) (3,814

T r1pe+u4 / 25
- pD 4231+ 0.0
[ p1 -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1L roze+ud [ 25
e, po 4229+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- 1nuiy1ze+u4 / 25
- pO 4238+ 0.0
pL -36.22:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

AR b/::e+l]4/25
- po 4275+ 0.0
pl -38.21+ 0.00

TP delay [ns]

TVC(C, bch) (38,15

Tonair1/e+u4 /25
4241+ 0.0
-35.81+ 0.00

TP delay [ns]



TVC(cbch)(390) TVC(cbch)(391) TVC(cbch)(392) TVC(cbch)(393)
AT inuig/1e+04 /25 AT 1 nunLrose+ud [ 25 A7 1 nun gsze+u4 [ 25 AT 1L ssse+u4 [ 25

4000 fmm,, po 4214+ 0.0 4000 fm,, po 42312 0.0 4000 fm, PO 4231% 0.0 4000 fos PO 4229+ 0.0
pl -35.58+ 0.00 pl -36.09 + 0.00 F pl -35.85+ 0.00 pl -35+ 0.0

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 - 1000 = 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39,5 TVC(cbch) (39,6 TVC(c, bch) (39,7

~ Uil y45e+04 / 25 T rnu,ub3e+ud [ 25 T nu 158e+04 [ 25 -1 nuaz,uage+ud [ 25
4000 [, pO 4208+ 0.0 4000 Fem, pO 4215+ 0.0 4000 fe, pO 4230+ 0.0 4000 fas pO 4241% 0.0
pl 3502+ 000 Pl -36.09% 0.00 [ PL_ -35.99+ 0.00 -35.1% 0.0

3000 - 3000 E 3000 — 3000 E

2000 ] 2000 E 2000 : 2000 ]

1000f C E 1000 7 w0~ C = 27.79 [pS/Ch 7 1000 E

- [ " ] -
- - -
1 1 - 0, 1 1 - 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T zpge+ud [ 25 ~ 1 nu.ysse+ud / 25 © 1 nuig.z4pe+u4 | 25 ~ 1 nuiz.apze+u4 [ 25
4000 o, pO 4215+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4249+ 0.0 4000 4255+ 0.0
pl -34.96 + 0.00 pl -35.53 + 0.00 F pl -34.95+ 0.00 -36+ 0.0

-1 3000

3000 N 3000 - 3000

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T inuzuyie+ud / 25 T ruiz.u/be+u4 [ 25 TnuiLs/1e+u4 [ 25 Tz, uure+u4 [ 25
4000 = pO 4269+ 0.0 4000 [ pO 4248+ 0.0 4000 [, PD 4254+ 0.0 4000 fo, pO 4247400
Pl -36.61+ 000 Pl -36.76+0.00 L Pl -37.89+ 0.00 Pl -37.02+ 000

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(CbCh) (3, 10 0)

4000 e

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

po

pl

T ruse+ud [ 25
4218+ 0.0
-37+ 0.0

TP delay [ns]

TVC(Cbch) (3, 10 4

- nuiLylye+ud / 25
4204+ 0.0
-36.8+ 0.0

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 10,8

- 1 nuizo03e+U4 1 25
- po 4250+ 0.0
p1 -36.99+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 12

- 1 nuiL yole+ud / 25
= po 4233+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(chh) (3,10,1)

4000 &

3000

2000

1000

N P0

AT 1 nuiLbzye+u4 [ 25
4220+ 0.0
-37.98+ 0.00

p1

TVC(CbCh) (3,10,2)

A"

4000 (S
3000
2000

1000

po
pl

1w rz1e+U4 /25
4218+ 0.0
-37.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 10 5

4000 S

3000

2000 -

1000 C

- Inuiz1ize+u4 25
po 4212+ 0.0
pl -36.81+ 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(3, 10,9

3000

2000

1000

T nun5.o5e+u4 [ 25
4000 e, pO 4263+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10 13

4000 e,

3000

2000

1000 |-

Tinai gze+ud [ 25
pO 4233+ 0.0
p1 -34.33+ 0.00

C =29.13 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TP delay [ns]

TVC(Cbch) (3, 10 6

- 1nu,ugse+u4 | 25
= pO 4224+ 0.0
- pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

1000

0

-1 huig o3e+U4 / 25
- pO 4275+ 0.0
[ pL -37.15+ 0.00

TP delay [ns]

TVC(CbCh) (3, 10 14

- 1 sgerud /25
-, pD 4235+ 0.0
L pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

X

e po
pL

1L 7 (oe+u4 [ 25
4219+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 10 7

F po 4232+ 0.0
p1 -37.99 + 0.00

-1 nu goge+u4d / 25

rc

50 100
TP delay [ns]

TVC(Cbch) (3, 10 11

= pO

e

~ 1 nuiz.apae+ud [ 25
4274+ 0.0

TP delay [ns]

TVC(cbch) (3, 10 15

b, pO 4224+ 0.0
pL -35.62:+ 0.00

1L y33e+ud [ 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

A1 nui pboe+ud / 25
4185+ 0.0
-36.81+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,4

- i B3ze+u4 | 25
e, pO 4169+ 0.0
pl -35.31 0.00

FC E
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (311,8)

T nug s41e+04 / 25
- pO 4237+ 0.0
p1 -36.52+ 0.00

TP delay

TVC(cbch) (311,12

pO

[ns]

T/ rge+u4 [ 25
4216+ 0.0
pl -35.45+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3,11,1)

=, po

AT 1L ssbe+ud [ 25
4191+ 0.0
pl -35.73+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,5

=11 bbae+u4 [ 25
pese, 4174+ 0.0

33.36 + 0.00

[ C =29.98 [ps/ch]

50 1(;0
TP delay

TVC(eh.eh)=(3, 11, 9

e, po

[ns]

-1 nuw.ayve+ud [ 25
4252+ 0.0
pl -36.46 + 0.00

TP delay

TVC(cbch) (311,13

pO

[ns]

~ 1 nuip44e+u4 / 25
4201+ 0.0
pl -35.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (3, 11 2)

b pO

T ry1e+u4 [ 25
4188+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (3116

Trnu19re+u4 [ 25
pO 4199+ 0.0
pl -35.06 + 0.00

TP delay
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_ X, 311)e+04/25
4000 po 42425 0.0
b PL 3459+ 0.00
a000 7]
20001 1
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1 1 =
) = T00
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T 1yoe+ud [ 25
4193+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (3,11,7

— =1 nui yybe+u4 / 25
e, pO 4184+ 0.0
p1 -34.53+ 0.00

TP delay

TVC(Ebeh=(3, 11, 11

[ns]

T nuzyrge+ud [ 25
4265+ 0.0
pl -36.79 + 0.00

TP delay

TVC(cbch) (311,15

= po

[ns]

T nuioyle+ud [ 25
4205+ 0.0
p1 -35.16+ 0.00

TP delay
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X~ 1w bsse+U4 [ 25
4180+ 0.0
p1 -35.08 + 0.00

TP delay

TVC(cbch) (40,4

[ns]

- 1 i Bage+u4 / 25
4199+ 0.0
-35.9+ 0.0

50 10'0
TP delay

TVC(cbch) (4 0,8

- pD

[ns]

~rnan slbae+ud [ 25
4200+ 0.0
p1 -34.77 £ 0.00

TP delay

TVC(Eeb.ch)=(4,0, 12
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[ns]

11z, 114e+04 | 25
4206+ 0.0
-34.1+ 0.0
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AT 1 nuiLbsse+u4 / 25
4176+ 0.0
-35.24 + 0.00

TVC(c,b ch) (4 0,5

pO
pl

1
100

TP delay [ns]

S nu r3/e+04 /25
4204+ 0.0
-35.54 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4 0,9

T nun 3b/e+ud [ 25
4226+ 0.0
-35.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, O 13

0, 13) —‘
1 nuz usse+ud | 25
= 4199+ 0.0
-33.04 + 0.00
[ C =30.27 [ps/ch] ™. ]
B —T s
TP delay [ns]
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TVC(cbch) (4,0,2)
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X~ 1 L Buse+u4 [ 25
4186+ 0.0
p1 -35.37+ 0.00

TP delay

TVC(cbch) (4,0,6

pD
pl

[ns]

“rnuLgr1e+u4 [ 25
4203+ 0.0
-35.71+ 0.00

TP delay

TVC(eb,oh)=(4, 0, 10

[ns]

-1 nug 158e+04 / 25
4226+ 0.0
-33.87 + 0.00

= "
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ool © = 29,53 [ps/ch] ™. 7
L = o =
TP delay [ns]
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“inw z0re+u4 [ 25
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pl -33.44+ 0.00

- C =29.90 [ps/ch] .
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A
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pL

3

nu, 7 13e+u4 [ 25
4200+ 0.0
-34.69 + 0.00

TVC(c,b ch) (4 0,7

-

o, pO
p1

1
100

TP delay [ns]

nuiz 115e+04 / 25
4228+ 0.0
-36.07 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, O

pO
pl

ERALEICK ya/e+u4/25
4238+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch]

1
100
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TP delay [ns]
TVC(c,b ch) (4, O 15)
-1 Ui ygoe+u4 / 25
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pl -32.86+ 0.00

[ C=30.43 [ps/ch] ™ 7]
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TVC(cbch) (4,1,0

K™ 1nuiLgioe+ud /25
- po 4187+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

Ty r1e+ud / 25
s, pO 4182+ 0.0
p1 -36.04 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

T rnuizyoe+u4 | 25
= po 4209+ 0.0
pl -34.72+ 0.00

TP delay [ns]
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= po 4197+ 0.0
pl -34.94 + 0.00
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TP delay [ns]

TVC(c,b ch) (4 1,5

“ a3 oe+u4 [ 25
pO 4191% 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,9

~ 1 nug g4ze+u4 25
= po 4210+ 0.0
p1 -34.73+ 0.00
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TVC(C, bch) (41,13

T a3 roe+ud [ 25
= pO 4195 0.0
pl -35.52+ 0.00
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4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,1,2)
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po 4185+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (41,6

-1 nuzz84e+04 [ 25
pO 4193+ 0.0
pl -35.77+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (41,10

T 341e+04 /25
po 4246+ 0.0
pl -35.24 + 0.00

TP delay [ns]
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T a2 plse+ud | 25
pD 4209+ 0.0
pl -36.19+ 0.00

TP delay [ns]
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po 4204+ 0.0
pl -36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

-1 nu Zgbe+u4d / 25
- pO 4201% 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 1
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T nan 2. yse+ud | 25
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-33.88+ 0.00

C =29.51 [ps/ch] ]
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Focea po 4209+ 0.0
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TP delay [ns]
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- rnuz1y1e+ud / 25
- pO 4200+ 0.0
p1 -34.27:+ 0.00

[ C =29.18 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (42,8

1 nuig.4o8e+04 / 25
- pO 4234+ 0.0
p1 -36.14 + 0.00

TP delay [ns]
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= po 4225+ 0.0
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% o
TP delay [ns]
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- po 4258+ 0.0
pl -35.75+ 0.00

TP delay [ns]
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TP delay [ns]
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- C = 29.07 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3)

T zuse+ud [ 25
pO 4225+ 0.0
p1 343+ 0.0

[ C=29.16 [ps/ch] \_ 7]
8 o
TP delay [ns]
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p1 -34.66+ 0.00

TP delay [ns]
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T, 4/ue+u4/25
- pO 4266+ 0.0
p1 -35.44 + 0.00
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- po 4242+ 0.0
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pL -36.77:+ 0.00
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TP delay [ns]
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p1 -34.72+ 0.00
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50 100

TP delay [ns]
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- C N
1 1 -
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-36.67 + 0.00
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TVC(c,b ch) (4.4,9

pO
pl

-1y 384e+04 [ 25
4249 0.0
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1
100

TP delay [ns]

TVC(c,b ch) (4, 4

1)
T onan2.19e+u4 [ 25
4266+ 0.0
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pl -35.79+ 0.00
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TVC(cbch) (4,54

T i, r3ze+04 [ 25
4185+ 0.0
-36.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

1 nuig.gove+u4 / 25
po 4225+ 0.0
pl -36.95+ 0.00

TP delay [ns]
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pO 4227+ 0.0
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TP delay [ns]

TVC(c,b ch) (4 55

=1 i Bobe+u4 / 25
e, pO 4192+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(c,b ch) (4 59

~ 1 nup.y1se+ud / 25
e, pO 4244+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(C, bch) (4,5,13

T inai rb3e+ud [ 25
- pO 4224+ 0.0
pl -36.58 + 0.00

TP delay [ns]
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AT 1nui710e+04 /25
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TP delay [ns]

TVC(cbch) (4,56

T rnuiL, (91e+u4 / 25
- pO 4187+ 00
F Pl 3666+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 5 10

1000

1 nuz 3ope+ud | 25
. po 4237+ 0.0
- pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

T rnuiLy41e+u4 / 25
- pD 4234+ 0.0
[ p1 -36.74+ 0.00
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p1 -37.34+ 0.00

50 100
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TVC(c,b ch) (4, 5
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-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,5,15

T nai rzoe+ud [ 25
- pO 4227+ 0.0
p1 -35.95+ 0.00

TP delay [ns]



TVC(cbch)(460) TVC(cbch)(461) TVC(cbch)(462) TVC(cbch)(463)
A7 1 nui suse+ud / 25 AT 1L yzse+ud [ 25 A~ 1nug1ure+ud /25 AT 1L Bobe+u4 [ 25

4000 [Fowe, PO 4183+ 0.0 4000 P po 4175+ 0.0 4000 _=- po 4195+ 0.0 4000 [ po 4202+ 0.0
pl -34.98 + 0.00 pl -34.6 £ 0.0 F pl -34.63+ 0.00 pl -35.04+ 0.00

- 3000

3000 — 3000 - 3000 4

2000 B 2000 E 2000 2000

1000 E 1000 1000

1 wol- C = 28.88 [ps/ch]

L 1 L 1 1 ] _1 1
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (4,6,6 TVC(c, bch) (46,

S, l?zleﬂ)d 125 4000 Trnur :4)1/e+04/25 LR 1)41e+U4 125 T z)i/E+l)4/25
4000, pO 4194+ 0.0 pO 4191 0.0 4000 e, pO 4210 0.0 4000 e, pO 4200+ 0.0
pl 3546+ 0.00 pl_ -35.78+ 0.00 F Pl -36.42% 0.00 Pl -35.26+ 0.00
3000~ - 3000 - 3000~ b 3000 E
2000 | E 2000 1 2000 ] 2000 [ -
o} ¢ ] 1000 ] w0or C = 27.46 [ps/ch ] wof C = 28.36 [ps/ch ]
I L5 oL I | = I =
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,oh)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.beh)=(4,6, 11)
T rnuigyL/e+u4 [ 25 -1 nuiLu4ze+us [ 25 T 34e+u4 /25 T nuzs31e+u4 /25
4000 f, PD 4216+ 0.0 4000 fo, 4235+ 0.0 4000 F 4250+ 0.0 4000 o, pO 4239+ 0.0
pl -34.71+ 0.00 -34.58 + 0.00 : -35.8+ 0.0 pl -34.62 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 |- - 2000 2000 -

1000 E 1000 C = 28.92 [pS/Ch] . — 1000: w00 C = 28.88 [pS/Ch] 2 7]
% i § % T a i
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

©rnuizuyse+ud | 25 T nui yzze+ud [ 25 ~ 1L yspe+u4 / 25 T nui s43e+u4 [ 25
41000 o, PO 4235+ 0.0 4000 e, PO 4229+ 0.0 4000 - PD 4232+ 0.0 4000 po, PO 4238+ 0.0
pl -36.52+ 0.00 pl -36.48 + 0.00 r pl -36.87 + 0.00 pl -36.88 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,7,0 TVC(cbch) (4,7,1 TVC(cbch) (4,7,2) TVC(cbch) (4,7,3

X~ 1 443e+04 [ 25 AT 1 nuiLbsze+ud [ 25 X~ 1L bsyve+U4 [ 25 AT 1nuiL, (24e+04 [ 25
000, po 4215+ 0.0 4000 fe,, po 4230+ 0.0 4000 fm PO 4235+ 0.0 4000 fr, PO 4252 0.0
pl -35.24+ 0.00 pL -35.83+ 0.00 [ pl -35.24+ 0.00 pL -35.77+ 0.00
3000 - 3000 E 3000} ] 3000 E
L - ]
2000 B 2000 N 2000 = - 2000 7
1000 . ] wool- C = 28.38 [ps/ch ] ]
- -
- ]
1 1 1 1 1 1
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (4.7,

~ g 2&49+04 125 T rnar 2&de+u4/25 “ g t?bueﬂjd 125 T nar b)z/E+04/25
4000 pO 42464 0.0 4000 e, pO 42491 0.0 4000 fm pO 424700 4000 fr, pO 42541 0.0
Pl -35.35: 000 Pl -35.64% 000 [ Pl -35.87%000 Pl -35.58% 000
3000 ] 3000 - s000 ] 3000 | 4
2000 ] 2000 — 2000~ . 2000 ]
1000 ] 1000 C 1 wool- C = 27.88 [ps/ch 7 1000 C = 28.11 [ps/ch] ]
1 1 - L 1 1 o 1 1 -
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 11)
©1nu50ze+u4 [ 25 ~ 1 nug.ubbe+u4 / 25 Cnubize+u4 /25 T g31e+u4 / 25
4000 e pO 4225+ 0.0 4000 [ pO 4250+ 0.0 4000 [, DO 4272+ 0.0 4000, p0 4263+ 0.0
Pl -36.44 0.00 Pl -36.74% 0.00 3 Pl 3653 0.00 Pl 3565+ 0.00

3000

. 3000 1 3000 -1 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000

- 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(47l ) TVC(cbch)(4713) TVC(cbch)(47l ) TVC(cbch)(4715)
1L yose+u4 / 25 Tonan L /3e+ud [ 25 T L g4ze+u4 [ 25 T nui rboe+ud / 25
4000 pO 4270+ 0.0 4000 pO 4280 0.0 4000 fomm PD 4273+ 00 4000 pO 4276 00
p1 -35.86 + 0.00 p1 -36.75 + 0.00 L pl -36.16 + 0.00 p1 -36.42+ 0.00

- 3000

3000 _ 3000 -1 3000 .

2000 — 2000 ] 2000 - 2000

1000 ] 1000 T 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(ehet)=(4,8,0) TVC(ehe)=(4,8,1) TVC(ehet)=(4,8,2) TVC(ebe)=(4,8,3)
A” 1L ysye+ud / 25 A~ 1 nwuzguye+ud | 25 A 1L r53e+04 | 25 X~ 1, rove+ud | 25
4000, po 4201+ 0.0 4000 po 2209+ 0.0 4000, po 4213+ 0.0 4000 [ po 4213+ 0.0
Pl -36.46+ 0.00 pl -36.3+ 0.0 [ Pl -35.38+ 0.00 pl 3562+ 0.00
3000 g 3000 4 3000 ] 3000 E
2000 - 2000 - 2000 ] 2000 B

1000 1 1000 1000

wof- C = 28.26 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (4 8,4) TVC(CbCh) (4 8,5) TVC(CbCh) (4 8,6) TVC(CbCh) (4 8,7)
T nu 35z2e+04 / 25 T baze+ud | 25 T Zple+ud [ 25 -1 byye+ud [ 25
4000 pO 4229+ 0.0 4000 F, pO 4220+ 0.0 4000 pO 4231+ 0.0 4000 s pO 4244+ 0.0
Pl 3577000 Pl 3532000 [ PL_ -34.87%0.00 Pl 35443000

3000 - 3000 - 3000 - -1

- 3000

2000 -1 2000 - 2000 - 2000 -

] wool C = 28.21 [ps/ch ]

1000 - 1000 - 1000 [
1 1 ! 1 1 - 1 1 -
50 100 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (4,8,8) TVC(c,b ch) (4.8,9) TVC(c,b, ch) (4,8,10) TVC(c,b ch) (4,811)

© 1 nuz,ubze+u4 [ 25 T g 482e+04 [ 25 Tnun 2ove+u4 /25 T 1b1e+u4 /25

4000 e, pO 4227+ 0.0 4000 e, pO 4248+ 0.0 4000 [, DO 4267+ 0.0 4000 [ p0 4259+ 0.0

pl -35.86 + 0.00 pL -35.89 + 0.00 3 pl -36.09 + 0.00 pL -34.91+ 0.00

3000 -1 3000 - 3000 N 3000

2000 . 2000 -1 2000

2000

1000 -1 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(481 ) TVC(cbch)(4813) TVC(cbch)(481 ) TVC(cbch)(4815)
Tinug.z4e+04 [ 25 T Lle+u4 [ 25 T 1nuz,us4e+u4 [ 25 T zzoe+V4 [ 25
1000 o, pO 4225+ 0.0 4000 o, pO 4226+ 0.0 4000 o, PD 4230+ 0.0 4000 e, pO 2243+ 0.0
pl -35.14 + 0.00 pl -36.23+ 0.00 F pl -34.49+ 0.00 pl -36.17 + 0.00
3000 1 3000 T 3000 ] 3000 T
2000 q 2000 ] 2000 ] 2000 7]

1000 1000

1000

ol C = 28.99 [ps/ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC(cbch) (4,9,0)

A1 zr4e+04 /25
4000 f& po 4185+ 0.0
p1 -32.77 + 0.00
3000 [~ 7
2000~ T
w0 C = 30.51 [ps/ch] ™ 7
5[‘) 10‘0
TP delay [ns]
TVC(cbch) (4,9,4)
- i 3bze+04 / 25
4000 e pO 4227+ 0.0
pl -33.37+ 0.00
3000 - T
2000~ T
oo C = 29.97 [ps/ch] ™. 7]
5(‘) 10‘0

TP delay [ns]

TVC(cbch) (4 9,8

- s Luse+ud 1 25
- po 4206+ 0.0
pl -32.82+ 0.

4000 [,
32.82+ 0.00
3000 - 71
2000 |- 7
o C = 30.47 [ps/ch] ™. ]
1 L Z
¢ 50 100
TP delay [ns]
TVC(cbch) (4,9,12)
Tz zioe+ud [ 25
4000 fae, po 4255+ 0.0
pl -34.92+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

E po

p1

A~ 1 i bove+ud [ 25
4182+ 0.0
-32.78 + 0.00

[ C =30.51 [ps/ch]

L L i
50 100
TP delay [ns]

TVC(c,b ch) (4 9,5

~1nui 41 /e+04 / 25
4223+ 0.0
-32.87 + 0.00

e, DO
pL
[ C =30.42 [ps/ch] ™ 1]
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

1 nu.Usbe+ud / 25
po 4230+ 0.0
p1 -34.25+ 0.

34.25 + 0.00

[ C =29.20 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (4, 9 13

- pO

~inuzysie+ud / 25
4254+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
]
10005‘ C =30.42 [ps/ch] ™. 1]

e

4000

3000
2000

1000

TVC(cbch) (4,9,2)

K™ | bébeﬂ]ﬁ‘
-I'_ po 4198+ 0.0
[ pl -32.63+ 0.00
r C 30.64 [ps/ch] ™, ]
50 10'0
TP delay [ns]
TVC(cbch) (4,9,6)
~nuiL b81e+04 / 25
-, pO 4220+ 0.0
[ pl -34.46::‘
FC = 29.02 [psich™, ]

50

1
100

TP delay [ns]

TVC(cbch) (4, 9 10

- 5 71e+ud ] 25
- pO 4240+ 0.0
[ pL -32.87 + 0.00

TP delay [ns]

TVC(cbch) (4,9,14

- p"

pl

- 1 nuizyoLe+ud [ 25
4264+ 0.0
-35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

AT 1 nuiLoBBe+U4 [ 25
== po 4203+ 0.0
pl -33+ 0.0
[ C=230.30[ps/ch] ™ ]
L L e
50 100
TP delay [ns]

TVC(c,b ch) (4 9,7

- pO
p1

- nui grge+u4 / 25

4233+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9

AL 559e+u4/25
- po 4233+ 0.0
pl -33.07 + 0.00

[ C =30.24 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9 15

- pO

- 2.08e+u4 [ 25
4262+ 0.0
-34.52 + 0.00

[ C =28.97 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

©1nuz4n4e+u4 | 25
pO 4203+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (4,104

-1z, ro8e+u4 | 25
pO 4235+ 0.0
pl -36.98:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (4, 10 8

T b p3e+u4 /25
po 4235+ 0.0
-36.7 + 0.0

1
100

TP delay [ns]

TVC(cbch) (4,10,12

©nuzgsve+u4 | 25
pO 4246+ 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuzovoe+ud [ 25
po 4205+ 0.0
pl -36.41+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,5

-1 U B4pe+u4 [ 25
4222+ 0.0
-36.8 + 0.0

1(;0
TP delay [ns]

TVC(ebeh)=(4, 10,9

T nuiLa41e+U5/ 25
po 4270+ 0.0
pl -38.61+ 0.00

1=
100

TP delay [ns]

TVC(C, bch) (410,13

1 nuiz byse+ud / 25
pO 4260+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,10,2)

A~ 1 nuiz obse+u4 / 25
po 4212+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (4,10,6

- rnuz1e+u4 [ 25
pO 4236+ 0.0
pl -37.88+ 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

T nun.prae+ud [ 25
po 4277+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (410,14

a2 guse+ud | 25
pD 4259+ 0.0
pl -35.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT 1 nuzoyve+ud [ 25
po 4218+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

-1 nug.ubBe+u4 / 25
pO 4246+ 0.0
-37.4% 00

1(;0
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nuig 1zze+04 / 25
pO 4287+ 0.0
p1 -37.94+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T 1 nuiz.ooae+ud [ 25
pO 4259+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

A1 L bye+ud | 25
4175+ 0.0
p1 -34.97 + 0.00

TP delay

TVC(cbch) (4, 11 4

[ns]

-1z 30be+u4 / 25
4206+ 0.0
-36.41+ 0.00

F pO
p1
FC N
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4,11,8)
Tz 1yze+u4 | 25
- pO 4211+ 0.0
pl -35.07 + 0.00

TP delay

TVC(c,b Ch) (4,11,12

[ns]

A1 nun gsse+u4 / 25
= po 4227+ 0.0
p1 -34.96 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

F... po

A~ 1 huiLbobe+u4 / 25
4175+ 0.0
p1 -35.19+ 0.00

TP delay

TVC(c,b Ch) (4, 11 5

F- pO

[ns]

- 1nu341e+04 / 25
4221+ 0.0
pl -36.68 + 0.00

TP delay

TVC(c,b ch) (4, 11 9

== pO

[ns]

Tinun.14/e+04 /25
4248+ 0.0
pl -35.89 + 0.00

TP delay

TVC(c, bch) (4, 11 13

pO

[ns]

T nuiLyo/e+ud [ 25
4247+ 0.0
p1 -36.11+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

1000

0

TVC(CbCh) (4, 11 2)

e, P°

- 1 i pyse+u4 [ 25
4191 0.0
p1 -36.08+ 0.00

TP delay

TVC(chh) (4, 11 6

pO
p1

[ns]

T a1 /ge+u4 | 25
4218+ 0.0
-36.28 + 0.00

TP delay

TVC(c,b, ch) (4,11,10

[ns]

X© 1 . (35e+U | 25
E- po 4253+ 0.0
[ pl -36.98:+ 0.00

TP delay

TVC(c,b Ch) (4, 11 14

pD

[ns]

-1y Ze+04 [ 25
4247+ 0.0
pl -36.05+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

A1 nuiLbase+ud [ 25
4203+ 0.0
p1 -35.93 + 0.00

po

TP delay

TVC(CbCh) (4, 11 7

o= pO

[ns]

- rnuzblie+ud [ 25
4227+ 0.0
pl -36.04 + 0.00

50 160
TP delay

TVC(cbch) (411,11

= pO

[ns]

T nuiz.z48e+04 25
4263+ 0.0
pl -36.02+ 0.00

TP delay

TVC(c, bch) (4, 11 15

e pO
p1

[ns]

Sy Ze+ud [ 25
4237+ 0.0
-35.9 % 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 12 0)

T, ryse+u4 [ 25
Frcea pO 4200+ 0.0
-34.38+ 0.00

[ C =29.09 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,124

- i Y3e+ud / 25
- pO 4208+ 0.0
p1 -34.74 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

1z, ro9e+u4 | 25
- po 4229+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (412,12

T rnuiLyrse+ud | 25
= po 4218+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,12,1)

ase po

p1

AT rnuLsroe+ud [ 25
4204+ 0.0
-35.02+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,125

-1 nui gl3e+u4 / 25
4222+ 0.0
-35.16 + 0.00

TP delay [ns]

TVC(c, bch) (4,12,9

== po
pl

T nuw./ roe+ud 25

4230+ 0.0
-33.61+ 0.00

[ C =29.75 [ps/ch] ™.

1
50 100

TP delay [ns]

TVC(C, bch) (412,13

= po

T nui gzoe+ud [ 25
4214+ 0.0
-34.82+ 0.00

TP delay [ns]

4000

2000

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (4,12,2)

1000

TP delay [ns]

TVC(cbch) (4,12,6

A7 1 nun suoe+u4 / 25
_l_ po 4227+ 0.0
- pl -36.32+ 0.00

3000

“rnuiL 715e+04 [ 25
- pO 4226+ 0.0
[ 358+ 0.0

TP delay [ns]

TVC(ebeh)=(4, 12, 10

T nugb1ze+u4 [ 25
po 4263+ 0.0
p1 -34.43+ 0.00

- C = 29.04 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (412,14

~nuiLygse+u4 / 25
- pD 4220+ 0.0
L pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,12,3)

AT rnuiLare+u4 [ 25
4223+ 0.0
p1 -36.41% 0.00

po

TP delay

TVC(c, bch) (4,12,7

- pO

[ns]

-1 zise+ud | 25
4241+ 0.0
pl -35.35+ 0.00

TP delay

TVC(c, bch) (4, 12 11

= pO

[ns]

T inuiz.ryle+u4 [ 25
4254+ 0.0
-34.3+ 0.0

[ C=29.16 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4,12,15

e, po

[ns]

-1 nui yoe+ud / 25
4222+ 0.0
p1 -34.75+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

© 1 nuzsuse+u4 | 25

-35.91+ 0.00

4206+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (4,134

- i1 8oe+u4 /25
Fome, pO 4215+ 0.0
pl -36.53 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

Tz 3z9e+04 | 25
- pO 4234+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (4,13,12

T r33e+u4 / 25
= po 4239+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

AT 1 nui, (s4e+U4 [ 25
P s po 4214+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (4,135

-1 nuz.ul3e+ud / 25
4234+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVCebeh)=(4, 13,9

T inup.g/1e+u4 /25
- pO 4247+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (413,13

T inuigyle+ud / 25
4235+ 0.0
-35.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (4,13,2)

A~ 1nuig ry1e+04 /25

TP delay [ns]

TVC(cbch) (4,136

Freee, po 4202+ 0.0
o pl -35.56 + 0.00

3000

“ i1 8be+u4 [ 25
- pO 4206+ 0.0
[ pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

1000

0

T nuig 1e3e+U4 / 25
- po 4281+ 0.0
- pl -37.48 + 0.00

TP delay [ns]

TVC(cbch) (413,14

T rnuiLg41e+04 / 25
- pD 4244+ 0.0
L pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

s, po

AT 1. 148e+U4 1 25
4202+ 0.0
pl -34.47 + 0.00

[ C =29.01 [ps/ch]

L
50 100

TP delay

TVC(c, bch) (4,13,7

= pO

[ns]

S nun1.8oe+04 [ 25
4218+ 0.0
pl -35.69 + 0.00

TP delay
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TP delay [ns]
TVC(c,b ch) (5 5,8

T 1nug.usse+u4 | 25
4239+ 0.0
-37.51+ 0.00

1
100

TP delay [ns]

TVC(cbch) (55,12

- po
p1

“anun g rae+u4 [ 25
4229+ 0.0
-35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51)

Ao,

F - po
p1

ruve+u4 [ 25
4191+ 0.0
-38.01+ 0.00

TP delay [ns]

TVC(c,b ch) (5,55

X,

130e+04 1 25
4191+ 0.0
-37+ 0.0

TP delay [ns]

TVC(c,b ch) (5 59

T nun gg/e+u4 / 25
4265+ 0.0
-37.53 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,13

-1 nuiL byve+ud | 25
4229+ 0.0
-34.78 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (5,52)

™, po

A7 nun ozse+u4 /25
4204+ 0.0
pl -37.01+ 0.00

TP delay

TVC(cbch) (5,56

pO
pl

[ns]

T rnunLyu/e+ud [ 25
4203+ 0.0
-36.27 + 0.00

TP delay

TVC(cbch) (5, 5 10

- DO

[ns]

©nuzb3ve+u4 [ 25
4271+ 0.0
-37.2+ 0.0

pl

TP delay

TVC(cbch) (55,14

- PD
pl

[ns]

~nuiLgase+u4 [ 25
4241+ 0.0
-36+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3)

(2ve+U4 | 25
4209+ 0.0
-36.08 + 0.00

A,

po
pl

TP delay [ns]

TVC(c,b ch) (5 57

e, po
pl

-1 i Yo3e+ud / 25
4207+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (5,5, 1

X~ g,

e, o
pl

1/ye+u4 125
4267+ 0.0
-37.17+ 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

T nui pbse+ud / 25
4229+ 0.0
-34.99+ 0.00

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
AT 1L Byle+ud / 25 A~ 1L by/e+ud | 25 AT 1L ruze+u4 [ 25 A~ 1L pboe+ud / 25
4000 - PO 4182+ 0.0 4000 - po 4198+ 0.0 4000 _= - po 4212+ 0.0 4000 po 4214+ 0.0
pl -37.69+ 0.00 pl -38.4+ 0.0 : pl -38.52+ 0.00 pl -37.87 + 0.00

3000

1 3000 - -1 3000 -1 3000 -

2000 N 2000 - -1 2000 -1 2000

1000 =1 1000 [~

1 1ol C = 26.04 [ps/c .

1 1 ey 0 1 1 o 1
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.6.4) TVC(cbch) (5.6,5) TVC(cbch) (5.6,6) TVC(cbch) (5.6,7)
T r51e+04 [ 25 “nun zyge+ud [ 25 - g z3ve+ud [ 25 “1nuz4/5e+04 / 25
4000 e, pO 4196 0.0 4000 fom, DU 4189+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4206+ 0.0
pl -37.21+ 0.00 pL -37.17 % 0.00 [ pl -37.17:+ 0.00 pL -36.47  0.00
3000 - 3000 =1 3000 :— —: 3000 -
2000 - E 2000 - 2000 ] 2000 - E
woo- C = 26.88 [ps/c ] 1000 ] woo- C = 26.90 [ps/c 7] 1000 C ]
0 EY 00 - 0 0 EY 0 . 0 5 o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.6,8) TVC(c,b ch) (5.6,9) TVC(c,b, ch) (5.6,10) TVC(c,b ch) (56,11)
©1nu p3ye+ud / 25 T rnuy.2/9e+u4 [ 25 T nuig, 1ige+u4 / 25 T 1 Zobe+u4 [ 25
4000 = pO 4217+ 0.0 4000 pO 4225+ 0.0 4000 pO 4243+ 0.0 4000, p0 4246+ 0.0
pl -36.14+ 0.00 pL -36.22:+ 0.00 [ pl -36.87 + 0.00 pL -36.14 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(561 ) TVC(cbch)(5613) TVC(cbch)(5614) TVC(cbch)(5615)
Tinuzur4e+u4 [ 25 T 1z zoye+u4 [ 25 Tonunzaoe+u4 /25 - nug 1z8e+u4 / 25
4000 pO 42345 00 4000 s pO 422200 4000 PD 4212+ 00 4000} pO 4230£ 00
pl -36.23+ 0.00 pl -36.29 + 0.00 : pl -35.88+ 0.00 pl -35.98 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0)

A~ 1L slie+ud [ 25
.. po 4200+ 0.0
pl -36.38+ 0.00

TP delay [ns]

TVC(cbch) (5.7,4

I C =26.95[ps/c ]

- a1 roe+04 | 25
P, pO 4212+ 0.0
p1 -37.1+ 0.0

50 100

TP delay [ns]

TVC(cbch) (5 7,8

- nuig 311e+ud [ 25
= po 4225+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVC(cbch) (57,12

© i psze+u4 | 25
= po 4250+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

A 1L g (e+Ud | 25
' po 4214+ 0.0
pL -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,5

- nuiB3/e+u4 / 25
pO 4214+ 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T inu, r5ze+04 /25
po 4257+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(C, bch) (57,13

T inai r3ve+ud [ 25
pO 4254+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (5.7,2)

A7 nun ssse+u4 / 25
o= po 4206+ 0.0
o pl -36.4+ 0.0

3000

TP delay [ns]

TVC(cbch) (5.7,6

1000

-1z, 0zoe+u4 [ 25
4220+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (5, 7 10

Trnubye+u4 [ 25
- po 4254+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

T nuiLprye+ud [ 25
pD 4254+ 0.0
pl -35.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1 nuiLyyze+ud [ 25
- po 4225+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

- nui /45e+04 / 25
- pO 4231% 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 7

T zzue+u4/25
= po 4257+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

Tonai/13e+u4 /25
- pO 4254+ 0.0
p1 -35.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

A7 1nun szoe+ud /25
e, po 4213+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (58,4

-1 448e+04 25
e pO 4193+ 0.0
p1 -34.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T 4.19e+04 /25
= po 4223+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T L pule+u4 / 25
- po 4263+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

X1 i doae+Ud | 25
e, po 4197+ 0.0
pL -35.1 0.0

TP delay [ns]

TVC(c,b ch) (5 8,5

- nun bz3e+u4 [ 25
o pO 4196+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nu gble+ud / 25
4252+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(C, bch) (5,813

Tanan . /4e+u4 /25
- pO 4267+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5.8,2)

TP delay [ns]

TVC(cbch) (58,6

Tnan L sse+ud [ 25
-, po 4200+ 0.0
L pl -35.47 + 0.00

3000

- UL Bu3e+u4 / 25
e pO 4221 0.0
[ pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

©1nugbo3e+u4 [ 25
-, po 4263+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (5,814

~1nuiLgoye+u4 [ 25
- pD 4249+ 0.0
L -34.58 + 0.00

- C = 28.91 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT rnuiL4zie+ud [ 25
- po 4228+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- 11 byse+ud / 25
4215+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 8

T, ibée+l}4/25
- po 4276+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nai4zoe+ud [ 25
- pO 4239+ 0.0
p1 -34.98 + 0.00

TP delay [ns]



TVC(c,b Ch) (5,9,0) TVC(c,b Ch) (5,9,1) TVC(c,b Ch) (5,9,2) TVC(c,b Ch) (5,9,3)
K- 1 Ssve U4 ] 25 K 1esud 25 X~ 11 0a0e+04 ] 25 K- L da1e+Ud ] 25
4000 fe,, po 4230 0.0 4000 fmm,, po 4228+ 0.0 4000 fm, po 4233+ 0.0 4000 e, po 4253+ 0.0
Pl -36.62+ 0.00 pl_ -36.730.00 [ Pl -36.92% 0.00 pl -37.2£ 0.0

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0 0 50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cb Ch) (5, 9/“:41 2zsoe+04/25 TvC(eh Ch) (s, 'gwuu 25ue+u4/25 TVC(chb Ch) (5, '9:--u-61 u)b<e+u4/25 TVeEeb Ch) (5 g’"‘"l 3b42+04/25
4000 e po 42154 00 4000 po 4223+ 0.0 4000 fe, po 4244+ 0.0 4000 e, po 4250+ 0.0
Pl -36.56+ 0.00 36+ 0.0 r PL_ 37.39:000 Pl -37.27%0.00
3000 [ B 3000 — 3000 — — 3000 B
2000~ B 2000 E 2000 — — 2000 [ e
1000 C - 1000 - 1000:— C=26.74 [pS/C — 1000 C -
0 EY o 5 T = 0 EY 0 . 0 5 T =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5938) TVC(c,b ch) (59,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)
~ i, (goe+u4 / 25 -1y yoze+u4 [ 25 T nug, 18ze+04 / 25 T rnuz413e+04 / 25
4000 pO 4219+ 0.0 4000 4239+ 0.0 4000 o DO 4240+ 0.0 4000 o, 4248+ 0.0
Pl -34.99: 0.00 -34.51+ 0.00 ! Pl -3362% 0.00 -34.53:% 0.00
3000 B 3000 - 3000 ] 3000 E
2000 1 2000 — 2000 ] 2000 4
1 wob C = 28.98 [ps/ch]™,_ 1 wof C = 29.75 [ps/ch] ™. 1 wob C = 28.96 [ps/ch]™., 1
1 1 - [ 1 1 ~- 1 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TvC(cb Ch) (5, 9—, ..:!.'.21 /)ve+u4/25 TVC(cb Ch) (s, 9’! \%,in);emuzs TVC(ch Ch) (s, gw H:l-u ::y)se+04/25 TVC(eb Ch) (5. 9' ":‘I‘-'iSb'?beW“/%
4000 po 4244+ 0.0 4000 po 4245+ 0.0 4000 . 4229+ 0.0 4000 o, po 42491 0.0
pl -35.96 + 0.00 pl -36.23+ 0.00 r -34.21+ 0.00 pl -35.53+ 0.00

3000 -1 3000 - 3000

T 3000

2000 E 2000 2000

2000

1000 1 1000 1000

wol C = 29.23 [ps/ch]™, 7

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(cbch) (5.10,0)

~rnuiL4uoe+u4 / 25
4160+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.10,4

- i bB3e+u4 / 25
pO 4212+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (5, 10 8

T g, r30e+04 / 25
- PD 4220+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (5.10,12

TonuLo1e+u4 /25
pO 4248+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (5,10,1)

3000

2000

1000

AT 1 nuiLb/se+u4 [ 25
4000 [, Y 4186+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c, bch) (5,10,5

4000 S

3000 -

2000

1000 [~

S nun1p1e+u4 /25
DU 4206+ 0.0
pL -35.08 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 10

4000 [

3000

2000

1000

-1 nuw.pgae+U4 / 25
DO 4241% 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (510,13

4000 &,

3000

2000

1000

T obbe+u4 / 25
pO 4258+ 0.0
pl -36.13 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (5,10,2)

TP delay [ns]

TVC(cbch) (5.10,6

1000

A~ 1nuiLoore+ud /25
- po 4180+ 0.0
[ pl -34.95 + 0.00

3000

~ i robe+04 / 25
- pO 4228+ 0.0
3 PL_ -36:58+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

1 nuzbuge+u4 | 25
- DO 4267+ 0.0
r pl -37.34+ 0.00

TP delay [ns]

TVC(cbch) (5.10, 14

T b3oe+u4 [ 25
- PD 42513 0.0
F pl -36.23 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,3)

AT 1 nuiLb33e+U4 / 25
= PO 4186+ 0.0
p1 -35.3+ 0.0

TP delay [ns]

TVC(c, bch) (5,10, 7

~ i pbre+ud [ 25
- PO 4233+ 0.0
Pl 3573000

TP delay [ns]

TVC(cbch) (5, 10 1

T nuiz 1z29e+04 / 25
- pO 4259+ 0.0
-35.9 + 0.0

TP delay [ns]

TVC(cbch) (5.10,15

T 4yge+u4 [ 25
- pO 4231% 0.0
pl -35.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C=29.72 [ps/ch]

A1 nui oyoe+ud / 25
.. po 4166+ 0.0
-33.65+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,4

- i, r81e+u4 [ 25
- pO 4227+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T nuig.puse+u4 / 25
= po 4225+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 1 rgoe+04 / 25
= PO 4239+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 [ po

p1

AT 1 nuiLrobe+ud [ 25
4179+ 0.0
-33.52+ 0.00

3000

2000 -

ol C = 29.83 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

4000 fm, pO

pl

[ns]

- 1nuiLbrge+u4d [ 25
4218+ 0.0
-36.04 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(cbch) (5, 11 9

4000

[ns]

T a2z e+u4 [ 25
4245+ 0.0
-35.5+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (511,13

4000 e ,,0

[ns]

T nui roYe+ud / 25
4236+ 0.0
pl -36.76 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (5, 11 2)

- C =30.02 [ps/ch] ™. 7

~ 1w pose+u4 / 25
) DO 4186+ 0.0
o pl -33.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 11,6

~ i, ryse+u4 [ 25
pe, pO 4238+ 0.0
[ pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X7 1 nuig 135e+04 [ 25
- po 4251+ 0.0
L pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X1 s18e+04 [ 25
- po 4227+ 0.0
L pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

A” 1L pyae+U4 [ 25
== po 4185+ 0.0
pl -33.2+ 0.0
[ C=30.12 [ps/ch] ™. ]
L L =
50 100
TP delay [ns]

TVC(cbch) (511,7

- pO

- 1R 26Ye+U4 | 25
4251+ 0.0
pl -36.56 + 0.00

TP delay

TVC(cbch) (511,11

e pO

[ns]

T nuiz.zzge+u4 [ 25
4253+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

T nui gove+ud [ 25
4225+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T r1ze+04 /25
P pO 4183+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(cbch) (5.12,4

T i, rzoe+04 | 25
= pO 4204+ 0.0
pl -36.96+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T8 e+u4 [ 25
4200+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,12

T rnuizusie+ud | 25
pO 4215+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(chh) (5,12,1)

3000

2000

1000

A1 154e+04 | 25
4000 [, po 4218+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(cbch) (5,125

4000 S

3000

2000 -

1000 [~

-1 nui r9pe+u4 [ 25
pO 4207+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVCEDeN)=(5, 12,9

4000

3000

2000

1000

T naiyz4ze+04 [ 25
- pO 4214+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

Tinaiyiie+ud [ 25
= pO 4197+ 0.0
-35.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.37 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

T rnuzu4/e+04 [ 25
- pO 4210 0.0
[ pl -36.31¢ 0.00

A7 1 nuip4ve+ud /25
__— po 4193+ 0.0
[ p1 -34.04+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

T, rz8e+04 | 25
DO 4241+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

1 nuiLgobe+u4 / 25
pD 4200+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1 nuiLblye+ud /25
o=, po 4196+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c, bch) (5,127

-1 nuz.ua3e+u4 / 25
4221+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

~ 1 nuiz ogge+u4 / 25
= po 4236+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (5.12,15

- TinaiLyze+ud [ 25
pO 4205+ 0.0
-35.42+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
ok ]
ok ]
w0 C = 29.25 [ps/ch] v, 7]
—_—

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

T szre+ud /25
o, pO 4291+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

Srnuan i /oe+u4 /25
[oese. PO 4230+ 0.0
pl -36.38 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T L5 rge+u4 [ 25
[Foane PD 4269+ 0.0
-34.18 + 0.00

TP delay [ns]

TVC(cbch) (513,12

~ i, rove+u4 / 25
- po 4235+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nus.ooze+ud [ 25
e po 4283+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(c, bch) (5,135

S nui ryre+ud [ 25
[, pO 4218+ 0.0
pL -36.08 + 0.00

TP delay [ns]

TVC(c, bch) (5, 13 9

Tinung.z1e+04 /25
- pO 4304+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (513,13

Tinai g rge+ud [ 25
- pO 4238+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

K™ 1nusolye+ud /25
e, po 4299+ 0.0
: pl -37.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- 1L y3pe+u4 / 25
po 4248+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T z2.33e+04 /25
- po 4316+ 0.0
: pl -35.23+ 0.00

- C = 28.39 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

~ 1 nuiLBUbe+U4 / 25
- pD 4244+ 0.0
| pl -35.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

A- 1w 3. 2ae+ud | 25
po 4309+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(c, bch) (5,137

=1 nui yobe+u4 / 25
- pO 4260+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 1

~ 1 nuiz.zuae+04 / 25
- po 4319+ 0.0
pl -35.12+ 0.00

[ C=28.47 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

T nui szee+ud [ 25
- pO 4251+ 0.0
p1 -35.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

© 1z ssse+u4 | 25
P oeea. pO 4240+ 0.0
p1 365+ 0.0

TP delay [ns]

TVC(cbch) (5.14,4

- i, r3pe+u4 / 25
pO 4245+ 0.0
pl -36.21 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T 1nug.gyze+u4 | 25
= po 4205+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (5,14, 12

Trnuizzr1e+04 /25
- po 4286+ 0.0
pl -37.46 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT 1 nus.ul4e+ud [ 25
oaee po 4233+ 0.0
pl -35.63+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

=1 i boye+u4 / 25
- pO 4257+ 0.0
37+ 0.0

TP delay [ns]

TVC(c, bch) (5, 14 9

T nuiL134e+U5 / 25
= po 4236+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (5.14,13

Tinuzole+ud [ 25
e, pO 4271+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (5,14,2)

- C = 28.07 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

- rnuLylze+ud [ 25
- pO 4249+ 0.0
[ 359+ 0.0

X~ 1 nugnlie+ud [ 25

_-_ po 4243+ 0.0

- pl -35.63+ 0.00
-]

TP delay [ns]

TVC(cbch) (5, 14 10

1000

©1nug19ve+u4 / 25
= po 4238+ 0.0
- pl -34.74 + 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

1000

T z.3e+u4 /25
- pD 4260+ 0.0
L pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT 1 nus.ozze+ud [ 25
— po 4235+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

- 1nug 129e+04 / 25
- pO 4278+ 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(cbch) (5,14, 11

1 nuig sbYe+u4 / 25
= po 4236+ 0.0
p1 -34.66 + 0.00

TP delay [ns]

TVC(cbch) (514,15

T nuiz zoae+ud [ 25
- pO 4263+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T rnuiLpole+u4 [ 25
Frcea pO 4199+ 0.0
pl -37.1£ 0.0

[ C =26.96 [ps/c ]

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

T i, r83e+04 / 25
E pO 4195+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

Tz 4e+04 /25
po 4222+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (5.15,12)

T rnuig.4yze+u4 | 25
4223+ 0.0
-34.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

A7 1L sbbe+ud [ 25

Foase po 4184+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (5,155

S nui/ (ve+u4 [ 25
pO 4205+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

1 nu g80e+u4 / 25
- pO 4247+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (5.15,13

T inuis, rz9e+ud 25
- pO 4224+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

A~z izie+04 /25
Freee po 4210+ 0.0
- pl -36.66 + 0.00

3000

-1 nuLyzoe+u4 [ 25
4217+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10)

1000

0

Tz 152e+04 | 25
= po 4244+ 0.0
o pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (5.15,14)

~ 1 nuizyude+ud | 25
- pD 4232+ 0.0
[ p1 -37.51# 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT rnuz1zie+u4 [ 25

po 4212+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

- U u3be+u4 / 25
- pO 4213+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

-1 nui gbae+ud [ 25
- pO 4254+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (515,15

T inuisaye+ud [ 25
- po 4219+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

X~ 1 syse+U4 [ 25
o PO 4150+ 0.0
pl -34.05+ 0.00

TP delay [ns]

TVC(cbch) (6,0,4

-1 298e+04 | 25
o, pO 4170+ 0.0
-34.02 + 0.00

[ C =29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

1 nuip, 318e+U4 / 25
[oane PD 4177+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,0,12

Tz p3oe+ud / 25
" PO 4208+ 0.0
pl -35.32 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

R- U9 e+ud [ 25
P PO 4166+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nug 194e+04 / 25
P DU 4181+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

S 1z8e+us / 25
o, DO 4197+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

T 1z obye+u4 [ 25
[ PO 4204% 0.0
pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1L yole+U4 /25
[Froeee, PO 4171+ 0.0
I pl -34.93+ 0.00

T nug 3use+ud [ 25
Fom, pO 4198+ 0.0
L PL_ 3579+ 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

1000

©1nug, (55e+u4 / 25
- DO 4215+ 0.0
I pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T nugp3se+ud [ 25
o PD 4199+ 0.0
F pl -35.13 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A7 1 nuiz,usbe+u4 | 25
[, po 4186+ 0.0
p1 -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nu.yl4e+u4 / 25
o, pO 4204+ 0.0
pL -34.77  0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

S e u/e+u4/25
[ pO 4220+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
5}

Tz rz1e+u4 1 25
4214+ 0.0
pl -35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0

A~ 1 nug Uore+ud [ 25
o po 4175+ 0.0
p1 -36.9.+ 0.0

[ C=27.10 [ps/c ]

TP delay [ns]

TVC(cbch) (6.1,4

- 1Iuig.034e+04 [ 25
= po 4177+ 0.0
pl -34.24 + 0.00

TP delay [ns]

TVC(cbch) (6 18

iz a1e+04 [ 25
- pD 4199+ 0.0
p1 -34.62 + 0.00

TP delay [ns]

TVC(cbch) (61,12

1 nuiz,182e+04 [ 25
= po 4198+ 0.0
p1 -35.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

X1z il erud |25
i po 4195+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu S10e+ud / 25
po 4162+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

< ylabe+ud 1 25
po 4232+ 0.0
pL -34.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T nuz suse+ud / 25
pO 4192+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1z zzze+04 | 25
Fuee po 4211% 0.0
[ p1 -37.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

- g b3ve+u4 [ 25
- pO 4197+ 0.0
[ pl -36.06 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

- 1 i 120e+04 1 25
- pO 4245 0.0
[ p1 -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

- 1z z9oe+04 [ 25
= pD 4191% 0.0
L p1 -35.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A~ 1 nuiz,z30e+ud [ 25
po 4194+ 0.0
pL -37.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu 2zze+04 | 25
= po 4191+ 0.0
pl -34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T, 4aue+u4/25
- po 4255+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

-1z zage+ud [ 25
pO 4199+ 0.0
p1 -35.64 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A7 nug szoe+V4 /25 AT 1 nus.usse+u4 [ 25 AT 1nugszie+04 /25 AT 1 nus.usoe+u4 [ 25

4000 po 4200 0.0 400, PO 4211+ 0.0 4000 [Foee, po 4209+ 0.0 4000, PO 4213+ 0.0
pl -37.46 + 0.00 pl -36.06 + 0.00 F pl -35.43+ 0.00 pl -36.5+ 0.0

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

wol C = 28.22 [ps/ch

L L 1 Il 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.2,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

T rnan 3.0ze+04 /25 - Bebe+ud [ 25 -1z Boge+u4 | 25 - 1nu, (gbe+u4 / 25
4000 4215+ 0.0 400, pO 4220+ 0.0 4000 [, pO 4235+ 0.0 4000 pO 4250+ 0.0
359+ 0.0 Pl -36.18%0.00 [ PL_ 3577+ 0.00 Pl -36.26+ 0.00

3000 E 3000 E 3000~ - 3000 —

2000 - 2000 - 2000 . 2000 -

1000 - 1000 - 00~ C = 27.95 [ps/ch . 1000 -

[ . ]
-
- -
- -
1 1 1 1
EY 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(e.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 11)
© i sz9e+u4 [ 25 Ty gz1e+u4 [ 25 T nugol1ze+u4 / 25 Tz yzse+u4 [ 25
4000 f, pO 4220+ 0.0 4000 fae, pO 4264+ 0.0 4000 fome, DO 4265+ 0.0 4000 fs p0 4276+ 0.0
Pl -34.99: 0.00 Pl -37.04% 000 [ PL_ -35.89% 0.00 Pl -36.81% 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,212 TVC(C, bch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (6,215

T zpe+ud /25 Tinaz.ase+ud [ 25 1 nuiz.400e+04 / 25 T inuiz sroe+ud [ 25
4000 4212+ 0.0 4000 pO 4239+ 0.0 4000 PD 4225+ 0.0 4000 [, pO 4244+ 0.0
-34.9+ 0.0 pl -36.63+ 0.00 F pl -35.37 + 0.00 pl -35.8+ 0.0

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000

1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (s, '3/'\1'01)‘.759+U4/25 TVC(ch Ch) ( 6)‘3’ m} 23e+u4/25 TVC(eb Ch) ( 6x3uw212.me+u4/25 TvC(eb Ch) ( 6)‘3'”“% 5)4'9“’4/25
4000 Fasss, po 4196+ 0.0 4000 . po 4202+ 0.0 4000 _=- po 4214+ 0.0 4000 po 4217+ 0.0
Pl -36.73+0.00 Pl -36.96+ 0.00 [ L 3677+000 Pl -35.84+0.00

3000

- 3000 -1 3000 =1 3000 -

2000 - 2000 -1 2000 -1 2000

1000 1 1000 = 1000 =1 1000

TP delay [ns]

TVC(cbch) (63,4

TP delay [ns]

TVC(c,b ch) (6 3,

TP delay [ns]

TVC(cbch) (63,6

TP delay [ns]

TVC(c,b ch) (6 3,

S, l?lbeﬂjd 125 T 2?14&*04/25 S £)$$e+U4 125 T z)bSEH)A/ZE
4000 pO 4230+ 0.0 4000 fm,,, pO 4233+ 0.0 4000 e, pO 4237+ 0.0 4000 [ pO 4248+ 0.0
pl 37,5+ 0.0 Pl -36.45: 0.00 - Pl -36.16+ 0.00 Pl -35.750.00
3000~ - 3000 . 3000 b 3000 B
2000 E 2000 . 2000f . 2000 -
wof C = 26.67 [ps/c b 1000 . 00 C = 27.66 [ps/ch ] 1o00F C = 27.97 [ps/ch ]
o 1 1 - 1 il 1 L 1 L
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6 3,8

T nubrge+ud [ 25
[ pO 4236+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (6,312

~1nuiz445e+04 | 25
PO 4236+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6 3,9

Ty g/ge+u4 [ 25
= pO 4254+ 0.0
pL -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (63,13

T 1z bo4e+u4 [ 25
- PO 4224+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

TVC(cbch) (6, 3 10

T rnug.uZre+ud [ 25
=, DO 4282+ 0.0
X pl -35.92.+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

T nug5uLe+u4 / 25
- pD 4226+ 0.0
F pl -36.18 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6, 3

EALER ‘Jb‘Je+U4/25
- p0 4262+ 0.0
pl -35.72. 0.00

TP delay [ns]

TVC(C, bch) (63,15

T suse+u4 [ 25
- po 4243400
pl -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

X~ 1 yuse+u4 [ 25
- PO 4198+ 0.0
pl -36.04 £ 0.00

TP delay [ns]

TVC(cbch) (64,4

- i byye+ud / 25
e, pO 4186+ 0.0
pl -34.07 + 0.00

[ C =29.35 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T, (z4e+04 | 25
- PD 4190+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (64,12

T inuiLyzze+u4 [ 25
- po 4222+ 0.0
-33.58+ 0.00

[C=29.78 [ps/ch] ». ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuiLy1ye+u4 / 25
- po 4178+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui baze+u4d [ 25
- pO 4186+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

<1 nub.Ubbe+ud / 25
4209+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (64,13

- 1L raae+Ud [ 25
- po 4221+ 0.0
pl -34.7+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

X~ 1w o4e+04 [ 25
e po 4191+ 0.0
I pl -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

-1 nuiLBase+u4 [ 25
- pO 4189+ 0.0
3 pl -35.32:+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

©1nug, 188e+u4 / 25
F DO 4242500
L Pl -34.86% 0.00

TP delay [ns]

TVC(cbch) (64,14

- L g3 re+04 ] 25
- 4229+ 0.0
L -33.72:+ 0.00

- C = 2065 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

A~ rnur Lse+ud /25
™, LY 4207+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

- nui /83e+u4 / 25
- PO 4201% 0.0
pL -34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T nug us/e+u4/25
- 4227+ 0.0
-33.88+ 0.00

[ C =29.51 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T 1 bb4e+u4 [ 25
- po 4226+ 0.0
pl -34.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1 syse+u4 [ 25
e PO 4204 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.26 [ps/ch]

- g, 182e+04 | 25
e pO 4199+ 0.0
pl -34.17 £ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

1nuzbove+U4 / 25
- PD 4217+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (65,12

Tinuz4r9e+u4 [ 25
- PO 4227+ 0.0
pl -35.63 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

A Ui By re+ud [ 25
o, PO 4215+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

[ C =29.40 [ps/ch] 7

-1 nug B14e+u4 [ 25
DU 4196+ 0.0
pL -34.01+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

T drier0d 125
DO 4215+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T inaig zzze+ud | 25
4249+ 0.0
-36.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

X~ 1L ssve+U4 [ 25
I po 4226+ 0.0
F pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

Tnug 333e+04 / 25
- pO 4210 0.0
L PL_ -34.14%0.00

FC =29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T U o roe+u4 /25
- DO 4243+ 0.0
3 Pl -35.66+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T inuzg4/e+04 [ 25
- PD 4222+ 0.0
F pl -35.13 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1nuiLb//e+u4 /25
- PO 4212+ 0.0
pL -34.83  0.00

TP delay [ns]

TVC(c,b ch) (6 57

T g 11/e+04 [ 25
- PO 4212+ 0.0
Pl 3508+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

ALV /i‘Je+U4/25
- pO 4249+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T suoe+u4 [ 25
- pO 4237+ 0.0
pl -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

K™ nuiLoole+ud /25
po 4199+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(cbch) (6.6,4

“ i r81e+u4 [ 25
e, pO 4183+ 0.0
pl -35.01+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

©1nuzpuze+u4 | 25
po 4218+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

T rnuiz410e+04 / 25
pO 4235+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

T nun Lp4e+ud [ 25
Frase pO 4209+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nuz.0uye+ud / 25
[, DO 4209+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

Tinuy.z1/e+u4 /25
- po 4250+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

T nuiz zgbe+ud [ 25
= pO 4228+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

TP delay [ns]

TVC(cbch) (66,6

K™ 1 nui ozoe+ud /25
_l'_ po 4204+ 0.0
L pl -35.43+ 0.00

3000

-1 nurLgbze+u4 [ 25
Frnee po 4196+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

Tnug 1z /e+u4 /25
- po 4261+ 0.0
- pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (6,614

Trnuizzyre+u4 | 25
. pD 4225+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3

AT 1L byoe+ud [ 25
F po 4216+ 0.0
pl 354+ 0.0

[ C =28.25[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nui Y3ye+u4 / 25
4209+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 6

T, /zue+u4/25
- po 4258+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

T inuz so1e+ud [ 25
= po 4239+ 0.0
p1 -36.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1w su4e+U4 [ 25

F... po 4188+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(cbch) (67,4

- rnu519e+04 [ 25
= po 4200+ 0.0
pl -34.72+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

- s Lsue+ud [ 25
- po 4200+ 0.0
p1 -35.96+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

- rnuzp3/e+ud [ 25
e, po 4256+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

X1z 11se+ud | 25
e po 4212 0.0
pL -36.67 & 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nu bbze+u4 [ 25
[Fomes, pO 4212+ 0.0
pL -35.29 & 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

TinuiLyr1e+us /25
= po 4228+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

1 nuiz ogye+ud [ 25
= pO 4250+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

. po

X~ 1z 2use+u4 [ 25
4218+ 0.0

TP delay [ns]

TVC(cbch) (67,6

p1 -36.23:+ 0.00

T, fu4e+u4 | 25
- pO 4219+ 0.0
- pl -35.01+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 7, 10

1000

0

- 1 nuis.udve+u4 | 25
- pO 4253+ 0.0
L pl -37.1+ 0.0

TP delay [ns]

TVC(cbch) (67,14

1000

Tz b43e+04 [ 25
. pD 4254+ 0.0
L pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

A1 nuiLG/ re+ud [ 25
o po 4217+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

Cnubr3e+ud [ 25
4219+ 0.0
-34.5+ 0.0

[ C =28.98 [ps/ch] ]

50 160
TP delay [ns]

TVC(c,b ch) (6, 7

T, 455e+u4/25
= po 4262+ 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 7 15

Sz e+ud [ 25
- pO 4263+ 0.0
p1 -36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

K™ 1nuiLgore+ud /25
4184+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,84

- rnuiLaz9e+04 / 25
e, pO 4270 0.0
pl -38.92:+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

T o1e+u4 /25
= po 4213+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T L, rube+u4 / 25
= po 4223+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT rmuLyroe+ud [ 25
Foase po 4181+ 0.0
pl -34.76 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

-1 U 3bbe+u4 / 25
- pO 4253+ 0.0
pL -37.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

T nuig o3be+ud / 25
==, 4223+ 0.0
-34.58 + 0.00

[ C =28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (6,813

T nui o3se+ud / 25
= pO 4235+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.54 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

- 1nuiL, 7u4e+u4 [ 25
- pO 4264+ 0.0
[ 382 0.0

A™ 1 nuiLyise+ud /25
_l'_ po 4206+ 0.0
- pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T z8ze+04 /25
. po 4255+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,814

T r31e+04 /25
4223+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

pl

AT 1 nuzuloe+ud [ 25
4209+ 0.0
-35.76 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

P pO
pl

“rnu bz e+u4 [ 25
4283+ 0.0
-37.95+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T, 149e+u4/25
4261+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(C, bch) (6,815

Tinair41e+04 /25
4232+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]



TVC(c,b Ch) (6, 9 0) TVC(c,b Ch) (6,9,1) TVC(c,b Ch) (6,9,2) TVC(c,b Ch) (6,9,3)
i Zoserud | 25 K- zdzae+Ud ] 25 Ko iaLzer0A] 25 K- 1z dyserud | 25
4000 42154 0.0 4000, po 4220+ 0.0 4000 fe,, po 4238+ 0.0 4000 fmm, po 4242+ 0.0
-36.61+ 0.00 pl  -35.82+0.00 L Pl -37.67%0.00 pl  -37.150.00

- 3000

3000 1 3000 =1 3000

2000 2000 2000 =1 2000

1000 1000 - 1000

1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (69,4 TVC(cbch) (69,5 TVC(cbch) (69,6 TVC(c, bch) (69,7

- rnuz,zge+u4 | 25 T 33ye+u4 [ 25 -1 nuz 358e+04 [ 25 “nu 3/0e+u4 / 25
4000 e, pO 4238+ 0.0 4000 pO 42512 0.0 4000 =, pO 4260+ 0.0 4000 o=, pO 4276+ 0.0
Pl 3522+ 000 Pl -35.86+ 0.00 [ Pl 3578+ 0.00 -36.8+ 0.0
. [ ]
3000 4 3000 E 3000 4 3000 1
2000 - 2000 - 2000 . 2000 -
Lo = ] 1000 ]
1000F 4 1000 - w00 C = 27.95 [pS/Ch ]
- I - 1 -
- - - -
1 1 1 1 L 1 1 0, 1 1
50 00 50 100 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,9,8) TVC(eh.c=(6,9,9) TVC(eb.ch=(6, 9, 10) TVC(ebeh)=(6, 9, 11)
T, (pse+ud / 25 T nun.gyse+u4 [ 25 Tnug3rze+u4 [ 25 T bzye+u4 [ 25
4000 e pO 42215 00 4000 fen pO 4234+ 0.0 4000 [, DO 4261+ 0.0 4000 foe, p0 4273+ 00
35.1% 0.0 Pl -35.94%0.00 L PL_ -36.19: 0.00 -36.3 ¢ 0.0

-1 3000

3000 -1 3000 =1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 9 12) TVC(c,b Ch) (6, 9 13) TVC(c,b Ch) (6, 9 14) TVC(c,b Ch) (6, 9 15)
T i p43e+u4 / 25 T L se+u4 [ 25 TinuiLs14e+U4 [ 25 T 1zze+04 1 25
4000 f, pO 42394 0.0 4000 f, pO 4235£ 00 4000 fe, PD 4250+ 0.0 4000 fam, pO 4259% 0.0
pl 3413000 p1 -353+ 0.0 [ Pl -36.67+0.00 Pl 36,62+ 000

- 3000

3000~ - 3000 N 3000 -1

2000k ] 2000 F 4 2000 = 2000

1000 |- 1000 X —_ 1000

1000 C = 29.30 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

~rnuiLyyse+u4 [ 25
4205+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

- iz 194e+04 / 25
e, pO 4215+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

©1nuiLysze+u4 [ 25
= po 4220+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

1z syse+ud | 25
= po 4229+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

AT 1nuz3/e+ud | 25
P s po 4208+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

-1 nu138e+04 / 25
e pO 4219+ 0.0
-36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 10

T nui gole+ud [ 25
4224+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (610,13

T nuz.asse+ud [ 25
pO 4230+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

K™ 1 nuig 19se+u4 / 25
= po 4220+ 0.0
o pl -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

T rnug233e+04 [ 25
- pO 4227+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T nugz13e+u4 [ 25
e, po 4250+ 0.0
F pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~ 1 nuz gope+ud | 25
. pD 4231+ 0.0
L pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT nun L s4e+04 [ 25
= po 4213+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c, bch) (6,10, 7

- 1nu zive+u4 / 25
- pO 4232+ 0.0
p1 -36.44 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

T nuz sble+ud / 25
- po 4262+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (6,10,15

T inuzn4le+ud [ 25
= po 4239+ 0.0
p1 -35.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

X~ 1z suse+u4 [ 25
4223+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

TVC(cbch) (6, 11 4

TVC(CbCh) (6,11,1)

4000 =

3000 |-

2000

po

p1

AT 1 nuizbzze+ud | 25
4222+ 0.0
-34.5+ 0.0

00 C = 28.98 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

4000

- i pZze+04 [ 25
e po 4182+ 0.0
pl -36.23 0.00

- C =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (6, 11 8)

- 1nuz zgye+ud | 25
= po 4230+ 0.0
pl -35.91+ 0.00

TP delay

TVC(c,b Ch) (6,11, 12

[ns]

A~ 1 nuiLyure+u4 / 25
e, po 4252+ 0.0
p1 -34.96 + 0.00

TP delay

[ns]

“nui4/ze+04 [ 25
e pO 4198+ 0.0
Pl .37.25: 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (6, 11

4000 B pO

[ns]

~ 1 nuw ogbe+u4 [ 25
4218+ 0.0
p1 -34.48 + 0.00

3000 -

2000

1000 C = 29.00 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (6, 11 13

4000 e, PO

p1

[ns]

T inai rsge+ud [ 25
4251+ 0.0
-34.74+ 0.00

3000

2000 [~

w0 C = 28.79 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
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L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

T Uz 335e+04 / 25
e pO 4187+ 0.0
[ pl -34.57 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T nuizylse+ud | 25
= po 4253+ 0.0
- pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

T rnuizzrve+ud | 25
DD 4224+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1L r1se+ud [ 25
1 s, po 4212+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

- rnu glze+ud [ 25
- pO 4210+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T zuue+u4/25
= po 4258+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

T nuiz zgye+ud [ 25
- po 4228+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

AT 1nuis4/e+04 /25
P po 4184+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

-1 nuLyuze+ud / 25
[ PO 4177+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©1nuz.430e+04 / 25
po 4193+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (7,312

Tz 14ze+04 /25
pO 4214+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT rnunLrsze+ud [ 25
s po 4194+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 nuiL Ysbe+u4 / 25
o, DU 4187+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

-1 nui/ pybe+ud 25
= po 4213+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

Tinuazule+ud [ 25
== pO 4205 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

K™ 1 nuiz.guye+ud / 25
_=_ po 4200+ 0.0
o pl -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

1000

- L9 e+04 | 25
F pO 4192+ 0.0
L pl -35.94 + 0.00
L =

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

©1nuig.uage+u4 | 25
-, po 4231+ 0.0
- pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (7,314

T rnuizuse+ud | 25
= pD 4209+ 0.0
L p1 -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT Ly rse+ud [ 25
F po 4200+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- 1nu 143e+04 / 25
- pO 4195+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T s4e+u4/25
= po 4238+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

-1 nuiL yuse+ud / 25
po 4221+ 0.0
p1 -35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1 g

Bore+u4 /25
4188+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7,4,4

Yuve+u4 | 25
4210+ 0.0
-35.77 + 0.00

= po, o,
pl
- C -
% o
TP delay [ns]
TVC(c,b ch) (7, 4 8

pD
pl

.bgbe+u4 / 25
4212+ 0.0
-34.95+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

~1nuizpyze+ud | 25
4216+ 0.0
-36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

ro5e+u4 [ 25
4184+ 0.0
-35.23+ 0.00

A,

e, po

pl

TP delay [ns]

TVC(c,b ch) (7 4,5

- nu 118e+04 [ 25
4213+ 0.0
-35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

-,
= pO
pl

121e+U4 25
4232+ 0.0
-35.12+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

T inuzsoe+ud [ 25
4223+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7,4,2)

[rease po

pl

A~ 1 nuiz gooe+ud / 25
4191+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
pl

T rnuz1se+04 [ 25
4224+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4, 10

pO

pl

©1nug.18p0e+u4 / 25
4248+ 0.0
-34.82+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

T nuzp3oe+ud [ 25
4212+ 0.0
pl -35.83 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,4,

A1
e, )
pl

3

nuiz Bsae+ud [ 25
4196+ 0.0
-35.67 + 0.00

TVC(c,b ch) (7 4,7

-
pO
pl

1
100

TP delay [ns]

nu bzae+04 / 25
4232+ 0.0
-36.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
~ 1 nuis.ayse+ud / 25
4250+ 0.0
-35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (7,4,

X1

15

nuiz, (obe+u4 / 25
4234+ 0.0
-37.1+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

T Lore+ud /25
- pO 4186+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (7.5,4

- 1nuz 145e+04 / 25
e, pO 4188+ 0.0
p1 -34.54+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

T rnuzprse+ud | 25
4205+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T rnuiz.zioe+u4 | 25
= po 4237+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT rnuLBsse+ud [ 25
Frase po 4193+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(c,b ch) (7 55

-1 nuiyz1e+u4 / 25
e, pO 4209+ 0.0
pL -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (7 59

T naiyz3ae+u4 [ 25
= po 4218+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

T inuz zsae+ud [ 25
= pO 4238+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

TP delay [ns]

TVC(cbch) (7,56

A7 1 nun ssoe+u4 / 25
P po 4211+ 0.0
o pl -35.89+ 0.00

3000

- rnuz.2u1e+04 / 25
E. pO 4205+ 0.0
[ pl -35.01+ 0.00

- C = 28.56 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T 4.15e+04 /25
. po 4236+ 0.0
- pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (7,5,14

T 1nuizulve+ud | 25
= pD 4241+ 0.0
L pl -37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT 1L sose+u4 [ 25
P s po 4217+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

“rnan zuve+ud | 25
- pO 4216+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T, /4ze+u4/25
- pO 4240+ 0.0
p1 -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nui yzoe+ud [ 25
= po 4226+ 0.0
p1 -35.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

0P C=29.35 [ps/ch]™, 1
0 5;) 10'0 -

4000

3000

2000

1000

TVC(cbch) (7,6,0

K71 nuz.u4se+ud [ 25
P oeea po 4226+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

-1 nuzby4e+04 / 25
Fraese. pO 4206+ 0.0
p1 -35.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6,8

1 nuz.go4e+u4 [ 25
= po 4187+ 0.0
p1 -34.07 + 0.00

TP delay [ns]

TVC(cbch) (7,6,12

T, ru1e+u4 / 25
= po 4201+ 0.0
pl -32.49+ 0.00

[ C =30.78 [ps/ch] ™= 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT rnuLysie+ud [ 25
P oaee po 4228+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

“nubrze+ud [ 25
Few pO 4224+ 0.0
p1 -35.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 6,9

-1 nuy.pbbe+ud / 25
= po 4222+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,13

-1 nuiyuze+ud / 25
P 4234+ 0.0
-35.41+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

TP delay [ns]

TVC(cbch) (76,6

AT 1nuiLyrie+u4 /25
-_ po 4222+ 0.0
- pl -35.97 + 0.00

3000

Tz g1e+u4 [ 25
pe. pO 4237+ 0.0
[ Pl -36.26+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

T nuig.zg4e+u4 | 25
3 4247+ 0.0
L -35.9 + 0.0

TP delay [ns]

TVC(cbch) (7.6,14

1000

Trnuizur1e+u4 /25
4248+ 0.0
-36.61+ 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

AT rnuzuyLe+ud [ 25
4000 [es,, po 4239+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

-1 nu.yase+u4 / 25
4000 [ pO 4251+ 0.0
pl -36.67 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 6

4000 [u.

3000

2000

1000

EALER 9a=e+u4/25
po 4235+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 e

3000

2000

1000

T nuiza3sae+ud [ 25
pO 4239+ 0.0
-35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

K™ 1 rzoe+U4 [ 25
- PO 4205+ 0.0
pl -34.82+ 0.00

TP delay [ns]

TVC(cbch) (77,4

-1 Bsze+u4 [ 25
pO 4203+ 0.0
-34.9+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1, foge+u4 | 25
- PD 4216+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T rnuizusze+u4 | 25
4222+ 0.0
-37.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

~row 1 raevud | 25
[ PO 4218+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

“rnun 1.82e+04 [ 25
I DU 4213+ 0.0
Pl -35.63: 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T e 3b1e+u4 / 25
. pO 4232+ 0.0
pL -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

T rwiz.uyre+ud | 25
- PO 4221 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(cbch) (7,7,2)

4000

3000

2000

1000

o Llroe+ud 125
oase, pO 4217+ 0.0
[ pl -35.11+ 0.00

- C = 28.48 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

4000
3000
2000

1000

S rnuLy/1e+ud / 25
4231+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(ebeh)=(7, 7, 10

4000
3000
2000

1000

© 1z, [uve+u4 | 25
4239+ 0.0
-36.4 + 0.0

0

TP delay [ns]

TVC(cbch) (7,7,14

4000
3000
2000

1000

Tz oe+u4 | 25
4219+ 0.0
-36.81+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3)

A,

e, po
pl

rase+u4 | 25
4222+ 0.0
-35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

e, po
pl

-1 nu Uoge+u4 / 25
4234+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
~ 1 nuiz.z9se+u4 | 25
4250+ 0.0
-36+ 0.0

TP delay [ns]

TVC(C, bch) (7.7,15

T inuiLyroe+ud [ 25
4220+ 0.0
-37.24+ 0.00

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
A7 nug 330e+04 /25 AT 1 nuzbrze+ud [ 25 A7 1 nuig zsye+u4 [ 25 AT 1 nuaiz.zose+ud [ 25

4000 o PO 4162+ 0.0 4000 P po 4176+ 0.0 4000 .=— po 4177+ 0.0 4000 o po 4177+ 0.0
pl -36.07 + 0.00 pl -35.6 £ 0.0 : pl -35.44 i_0.00 pl -34.81+ 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 2000 - 2000 1 2000 |-

1000 1000 = 1000

7 woo- C = 28.72 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,84 TVC(cbch) (7,85 TVC(cbch) (78,6 TVC(c, bch) (7,87

-1z zsgae+ud | 25 -1, 1yye+ud [ 25 -1 315e+04 / 25 -1 nu bu3e+u4 / 25
4000 4179+ 0.0 4000k, pO 4186 0.0 4000 po 4192+ 0.0 4000, pO 4203+ 0.0
-35.7 £ 0.0 pl -36.08 + 0.00 r pl -36.14+ 0.00 pl -36.61+ 0.00
3000 - 3000 - 3000 - 3000 -
2000 - 2000 - 2000 - 2000 - -
1000 - 1000 - 1000~ C = 2767 [pS/C h - 1000 [~ -
[ . -
- - -
- - -
1 1 1 1 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000 T g, 14ze+04 / 25 TinuBY//e+ud [ 25 4000 ©nuig.yzoe+u4 | 25 4000 T rnur, /ue+u4/25
[, PD 4195+ 0.0 4000 DO 4217+ 0.0 - DO 4202+ 0.0 - pO 4204 £ 0.0
pl -35.18 + 0.00 pl -35.91+ 0.00 r pl -33.58 + 0.00 pl -34.96 + 0.00

- 3000

3000 ] 3000 |~ - 3000 1

2000 2000 2000 2000

1000 1000 1000

ol © = 29.78 [ps/ch]

o 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,812 TVC(C, bch) (7.8,13 TVC(cbch) (7.8 14 TVC(C, bch) (7.8,15

T rnuz531e+u4 /25 T inuzzive+ud [ 25 1z 349e+04 | 25 T nuiz z0se+ud [/ 25
4000 b, PO 4207+ 0.0 4000 % PO 4214+ 0.0 4000 - PD 4225+ 0.0 4000 g, PO 4225+ 0.0
pl -37.36+ 0.00 pl -38.16 + 0.00 r pl -38.37 + 0.00 pl -37.78 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR BRSNS | PR IR SRR |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0)

K™ 1 nuig tove+ud / 25
- po 4177+ 0.0
pl -39.14 + 0.00

TP delay [ns]

TVC(cbch) (79,4

- rnuiLy41e+u4 / 25
e pO 4185+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

T b4 e+04 [ 25
= po 4189+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

1z pzde+u4 | 25
= po 4201+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,1)

AT 1 nuiz 114e+04 /25
P e po 4177+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

- 1nu 1gse+ud | 25
= po 4193+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

-1 naiL1uze+U5 / 25
= po 4227+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,13

T inuiz.pz/e+ud [ 25
= pO 4200+ 0.0
pl -36.26 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,9,2)

K™ 1nui roae+04 /25
- po 4192+ 0.0
L p1 -37.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

T rnuz0/pe+u4 [ 25
pO 4196+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (7, 9 10

T nuig3yle+u4 / 25
4220+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(cbch) (7,9,14

~1nugb44e+04 [ 25
= pD 4201+ 0.0
L p1 -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,3)

A,

E po
pL

140e+u4 | 25
4186+ 0.0
-37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,7

pO
pl

- 1nu 334e+04 / 25
4201+ 0.0
-36.96 + 0.00

50 100

TP delay [ns]

TVC(ehoh)=(7,9, 11

T inuizarie+sud [ 25
4233+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,15

T inuzs41e+04 /25
4233+ 0.0
-37.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (7, 10 0)

©rnuizps3e+U4 [ 25
pO 4152+ 0.0
pl -35.42+ 0.00
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